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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hou), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

2 Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday| 270 - b -
Thursday - 11 7 -
Friday 34 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time

Sub questions

Question Number : 1 Question Id : 87827039362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?

(1) 36 hours

(2) 42 hours

(3) 45 hours

(4) 35 hours
Options :
878270154641. 1
878270154642. 2
878270154643. 3

878270154644. 4

Question Number : 2 Question Id : 87827039363 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours

(3) 80 hours

(4) 60 hours
Options :
878270154645. 1
878270154646. 2
878270154647. 3

878270154648. 4

Question Number : 3 Question Id : 87827039364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270154649. 1
878270154650. 2
878270154651. 3

878270154652. 4



Question Number : 4 Question Id : 87827039365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

(2) 120 hours
(3) 108 hours
(4) 92 hours
Options :

878270154653. 1
878270154654. 2
878270154655. 3

878270154656. 4

Question Number : 5 Question Id : 87827039366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X" km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 38 hours

(2) 62 hours

(3) 48 hours
(

) 56 hours

ey

Options :
878270154657. 1
878270154658. 2

878270154659. 3



878270154660. 4

Question Id : 87827039361 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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878270154642. 2
878270154643. 3

878270154644. 4
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Correct Marks : 2 Wrong Marks : 0
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878270154650. 2
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Correct Marks : 2 Wrong Marks : 0
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Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the fnllﬂwing tools can be used for virtual labs and simulations ?
(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :



878270154661. 1
878270154662. 2
878270154663. 3

878270154664. 4
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878270154661. 1
878270154662. 2
878270154663. 3
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the f ollowing is the dm-'ing force for students’ commitment, engagement and perstistence
in self-directed leam‘mg ?

Fixation

)

) Motivation
) Metacognition
)

Assessment



Options :

878270154665. 1
878270154666. 2
878270154667. 3
878270154668. 4

Question Number : 7 Question Id : 87827039368 Question Type : MCQ Option Shuffling : No Is
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878270154665. 1
878270154666. 2
878270154667. 3

878270154668. 4
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Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I ;  Passive sl}fle isa way of dea]jng with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement 11 ; Manipulative style s a way of dealing with conflict in which people try to get
what the}F want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270154669. 1

878270154670. 2

878270154671. 3

878270154672. 4
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Instruction Time: 0
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8782701546609. 1
878270154670. 2
878270154671. 3

878270154672. 4

Question Number : 9 Question Id : 87827039370 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

When students, who have learned to type on a typewriter, transfer this skill to typing on a computer
keyboard, it is an example of learning ?

(1) Far transfer

2

Higlwoad transfer

a2

(
(
(

)
) Near transfer
)

}

Low-road transfer
Options :
878270154673. 1
878270154674. 2
878270154675. 3

878270154676. 4
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Instruction Time: 0
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Options :

878270154673. 1
878270154674. 2
878270154675. 3
878270154676. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3)  Focus on foreign language use
(4) admission to students from elite class

Options:

878270154677. 1
878270154678. 2
878270154679. 3
878270154680. 4

Question Number : 10 Question Id : 87827039371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270154677. 1
878270154678. 2
878270154679. 3

878270154680. 4

Question Number : 11 Question Id : 87827039372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the software that would be useful for statistical analysis of data generated in a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D Only
(3) (A),(C) and (D) Only
(4) (A), (B) and (D) Only
Options :
878270154681. 1
878270154682. 2
878270154683. 3

878270154684. 4

Question Number : 11 Question Id : 87827039372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270154681. 1
878270154682. 2
878270154683. 3

878270154684. 4

Question Number : 12 Question Id : 87827039373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement 1 is false but Statement I is true

Options :

878270154685. 1



878270154686. 2
878270154687. 3

878270154688. 4

Question Number : 12 Question Id : 87827039373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270154685. 1
878270154686. 2
878270154687. 3
878270154688. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the context of a published research article, DOI stands for :
(1) Data Object Integration

(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface

Options:

878270154689. 1
878270154690. 2
878270154691. 3

878270154692. 4

Question Number : 13 Question Id : 87827039374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270154689. 1
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1

Central tendency

)
(2) Dispersion
(3)  Kurtosis
(4)  Skewness
Options:

878270154693. 1
878270154694. 2
878270154695. 3

878270154696. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270154693. 1
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

4

namely

Options :

878270154697. 1
878270154698. 2
878270154699. 3

878270154700. 4

Question Number : 15 Question Id : 87827039376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154697. 1
878270154698. 2
878270154699. 3

878270154700. 4

Question Number : 16 Question Id : 87827039377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is cc}ncepmahsed as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270154701. 1
878270154702. 2
878270154703. 3

878270154704. 4

Question Number : 16 Question Id : 87827039377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270154701. 1
878270154702. 2
878270154703. 3

878270154704. 4

Question Number : 17 Question Id : 87827039378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The cyberspace is normally compared to a type of electronic :
(1) Screen

(2) Salon

(3) Complex

(4) Agora

Options:

878270154705. 1

878270154706. 2

878270154707. 3

878270154708. 4

Question Number : 17 Question Id : 87827039378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270154705. 1
878270154706. 2
878270154707. 3
878270154708. 4
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Minimum Instruction Time : 0
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Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B)and (C) Only
(@ (B) (O and (D) Only
(3) (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options:

878270154709. 1
878270154710. 2
878270154711.3
878270154712. 4

Question Number : 18 Question Id : 87827039379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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8782701547009. 1
878270154710. 2
878270154711. 3

878270154712. 4

Question Number : 19 Question Id : 87827039380 Question Type : MCQ Option Shuffling :
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

(
(
(

Options :



878270154713. 1
878270154714. 2
878270154715. 3

878270154716. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) TR [T &, TR HOF 1L T &
Options :

878270154713. 1
878270154714. 2
878270154715. 3

878270154716. 4

Question Number : 20 Question Id : 87827039381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Communication 1s a social process in which people use symbols to interpret
meam'ngs in their own environment

Statement II:  People and their interactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270154717. 1

878270154718. 2

878270154719. 3

878270154720. 4

Question Number : 20 Question Id : 87827039381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%@Wﬁﬂw%:
B WY O G WihA € R T o W o e W Y Ry & o o e

1 37N F ¢
G008 G L 0 o R et o i b 7 e e B e e e e
T

TIE A o e 8, 9 o o o § e e S T
(1) FOR1 R TR 78 &

(2) R 1 3 e 1 SF e

() O IR ¢, ol O 17T

(4) IR ¢, ol FTI T €

Options :



878270154717. 1
878270154718. 2
878270154719. 3

878270154720. 4

Question Number : 21 Question Id : 87827039382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by
5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

0

§ hours
Options :
878270154721. 1
878270154722. 2
878270154723. 3

878270154724. 4

Question Number : 21 Question Id : 87827039382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T 50 Toft/eie 1 Sfes T § S a7 1 1 € sie 5 fohw/eier et U et @ 1 630 fore
1 0 7 0§ 7 fore = 7 2

(1) 7%

(2) 951
(3) 6%
(4) 8%



Options :

878270154721. 1
878270154722. 2
878270154723. 3
878270154724. 4

Question Number : 22 Question Id : 87827039383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270154725. 1
878270154726. 2
878270154727.3
878270154728. 4

Question Number : 22 Question Id : 87827039383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ot Wt o e @ oA O 27000 |1 A 12 i @ e ok % 40000 S S
FAIC 1 30 3 T 6000 €, @ FHIA 1 GEAE



Options :

878270154725. 1
878270154726. 2
878270154727. 3

878270154728. 4

Question Number : 23 Question Id : 87827039384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. [f the ratio between the first and the second is 2 : 3 and between
the second and the third 1s 7 : 9, then the third number is :

Options:

878270154729. 1
878270154730. 2
878270154731. 3

878270154732. 4

Question Number : 23 Question Id : 87827039384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 el 1 2 124 1 7t Vel oI ) e o i S 2: 3 € A G o o o o S
7:9% T e g ¢

1) 48
() 54
(3) o4
(4) 66



Options :

878270154729. 1
878270154730. 2
878270154731. 3
878270154732. 4

Question Number : 24 Question Id : 87827039385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllnwing number series ?
0 2. 38357 B it

(1) 3120
7.5 S U124
(3) 2045
(4) 630

Options:

878270154733. 1
878270154734. 2
878270154735. 3
878270154736. 4

Question Number : 24 Question Id : 87827039385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa s sfaen ® P o1 7 fohawn gm 2

(L2 240, 30l B i

(1) 3120
(2) 1029
(3) 2045
4) 630



Options :

878270154733. 1
878270154734. 2
878270154735. 3
878270154736. 4

Question Number : 25 Question Id : 87827039386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gain after allowing a discount of 15% ?
(1) 20%

1
) 13=%
) 1
(3) 10%

2
4 15=-%
HRES
Options:

878270154737. 1
878270154738. 2
878270154739. 3

878270154740. 4

Question Number : 25 Question Id : 87827039386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forelh T 91 VTR e S o 3 e e A 75% 1 15% F 92 4 % v oIe ) e
T <1 @1 2
(1) 20%

1
13=%
o B

(3) 10%
2

(4) 15511

Options:

878270154737. 1
878270154738. 2
878270154739. 3

878270154740. 4

Question Number : 26 Question Id : 87827039387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are so related that they cannot both be true, nor can they both
be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates.

(C) Some mammals are not vertebrates.

(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only

(4) (A) and (D) Only

Options :
878270154741. 1

878270154742. 2

878270154743. 3



878270154744. 4

Question Number : 26 Question Id : 87827039387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

rreifcifiga & 9§ M @ F97 30 0 9 Y9G & [ o G 9ed Tel & Wk & AR AT S A B T &
(A) T TR T

Options :

878270154741. 1
878270154742. 2
878270154743. 3

878270154744. 4

Question Number : 27 Question Id : 87827039388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing statements is lr.lgicalllj,F Equiualent to the statement - “All reclangles are
polygon” ?

(I) Some rectangles are polygon.

(2)

(3)  No non-rectangles are non-polygon.
(4)

No reclangles are nv:)n~polygnn.

All non-polygons are rectangles.

Options:

878270154745. 1
878270154746. 2
878270154747.3

878270154748. 4

Question Number : 27 Question Id : 87827039388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fretfeafien o 9 @ 51 FoF Tk €9 9 70 HoF o GG © - H A Y & 2

(1) T 3799 9 &

(2) HE o PR R-TE T ¢
(3) HR o R R-TRE T g
(4) 9 TR A ¢ |

Options :

878270154745. 1
878270154746. 2
878270154747.3

878270154748. 4

Question Number : 28 Question Id : 87827039389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the f-:-]lnwing terms in order of increasing intension :
(A) Cheese

(B) Dairy product
(C) Soft Cheese
(D) Strong soft cheese

Choose the correct answer from the options given below :
(1) (B), (&), (©), (D)

(2) (B), (D), (O), (A)

(3 (D) (), (B), (A)

(4) (D) () (A) (B)

Options:

878270154749. 1

878270154750. 2

878270154751. 3

878270154752. 4

Question Number : 28 Question Id : 87827039389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

fretferfias wei =1 el % SR sy 3 srafer Ff ;

(A) TR

(B) §™ IR

(C) ¥g TR

(D) i g TR

= feu v fasredi § 9 | 3O & =94 iU -

() (B), (A), (O (D)
(2)  (B), (D), (©), (A)
(3) (D) (Q), B), (A)
4) (D) (©), (A) (B)

Options :

878270154749. 1



878270154750. 2
878270154751. 3

878270154752. 4

Question Number : 29 Question Id : 87827039390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stability is indispensable to economic progress because economic progress can only be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation

(4) Begging the question

Options :

878270154753. 1

878270154754. 2

878270154755. 3

878270154756. 4

Question Number : 29 Question Id : 87827039390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

" oo feercen snffer e & e arferd & @ife snfees e S Tovifoes e & e € €
1 9 T &1 SR o B W S T & 7

(1) ¢ LS|
(2) Ve Hed (T2 &)
(3)  Hfomia Q=i
() e g

Options:



878270154753. 1
878270154754. 2
878270154755. 3

878270154756. 4

Question Number : 30 Question Id : 87827039391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I 1 The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct
Options :

878270154757. 1

878270154758. 2

878270154759. 3

878270154760. 4

Question Number : 30 Question Id : 87827039391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



%ﬁwmﬂﬂ%‘:

FA]: 79 Tfoara T T A ¢ ik Fega e g e e ¢
FOA I : 39 ylagla vl wnverd € awiifer 7% 9ea &' H i WA o6 e Qg )
IR F97 & e °, 7= QU 70 foeped # 4 o UG I B A FIAC
(1) I 3R R 11 TH e &

() e 1 3R ®YR 11 S T €

(3) YT IR ¢, Wi R 11T &

(4) T ITEW €, Tl e 11 7 €

Options:

878270154757. 1

878270154758. 2

878270154759. 3

878270154760. 4

Question Number : 31 Question Id : 87827039392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I ; Google is a web search Engine, while guogle chrome 1s a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270154761. 1

878270154762. 2

878270154763. 3



878270154764. 4

Question Number : 31 Question Id : 87827039392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwﬁqw%:

FITL: T UF od G4 35 ¢ STach el M 99 qE9N 2 |

FUTI:  TRFHGTR T T 96 T 399 ¢ Saich M {7 U e a8 ¢ |
IR oA & e, e e e fowed § @ wa SUgE I 99 i ;

(1) A1 3N R 13 T8 &
(2) U1 3R B 11 S Tom §
(3) YA [ TR 8, wifehd e 1L Terd &
(4) T 1TEM &, AFFT HIT T §
Options :

878270154761. 1
878270154762. 2
878270154763. 3

878270154764. 4

Question Number : 32 Question Id : 87827039393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the fnllnwing memory hieralchy diagl'am:

Cache
Memory
[\
Solid State Storage

/ II \
/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent I, II, IIl and IV (in that order) ?
(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

Increase in Cost per bit

Increase in Access Time

(D) Processor Registers

Choose the correct answer from the options given below :

(1) @) (), (A) B)
(2) (A) (), (C) (D)
3) (@), (©) (D) (A)
4 (D) (©), (B) (A)
Options:
878270154765. 1
878270154766. 2
878270154767. 3

878270154768. 4

Question Number : 32 Question Id : 87827039393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

freferfia J SraTfer 3 W fe=r e

UHI

/[ 1\
[ A\

ufa foe @rma & afg
sty vy 4 gfg

/ e fem i \
\
/ v \
frefafad © | %4 o 568 A-D (39 FA H) L 10, 11 SR [V 3 9 82
(A) FrE
(B) kg e fewh
(C) Yeu Uy AR
(D) SR ered
e fou mu fowedi § | WE TR F 999 FHifAC

(1) D) (©), (A) (B)
(2 (A) B), (O (D)
(3)  (B), (C) (D), (A)
(4) (D) (©) (B) (A)

oy

B

Options :

878270154765. 1
878270154766. 2
878270154767. 3

878270154768. 4

Question Number : 33 Question Id : 87827039394 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user’s computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l\’E}’ and private key
Choose the correct answer from the options given below :

(1) (AHI, (-, (CH1V), (DAI)

(@ (AHD), B)(IV), (CH(I), (D))
(3) (AL, B)-IV), (©)-), (DMI)
(4)  (AH), (BHIV), (CHI), (DH)
Options :

878270154769. 1
878270154770. 2
878270154771. 3

878270154772. 4

Question Number : 33 Question Id : 87827039394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it

Tl I
(3 # & we) (ftwrer)

(A) EEA () SR daHEe TS T T # e A T % fou |

(B) feffed womrer (1) TESPR A WRAR S WA % R AR R e & ne fem
I & S e ¥ -9 a1l 2R A fpeet 0 ¢

€ FHH (11T 2o, ol 21 BT 1 ST 797 157 0 € A Sefena
A&l

(D) BRI (IV) SR % FE W AT Teell & W, Fedeh g Wedh
ot off el ot 2 €1

A feu T ot W § W& S 1 T A

(1) (AM, B)-(T), (CHIV), (DHII)

@ (A-D BHIV), (W), (D)

(3) (A, B-IV), (-1, (DHII)

(4) (A, BHIV), (©-{1), D}

Options:

878270154769. 1
878270154770. 2
878270154771. 3

878270154772. 4

Question Number : 34 Question Id : 87827039395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270154773. 1
878270154774. 2
878270154775. 3

878270154776. 4

Question Number : 34 Question Id : 87827039395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270154773. 1
878270154774. 2
878270154775. 3
878270154776. 4

Question Number : 35 Question Id : 87827039396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270154777. 1

878270154778. 2

878270154779. 3

878270154780. 4

Question Number : 35 Question Id : 87827039396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270154777. 1
878270154778. 2

878270154779. 3



878270154780. 4

Question Number : 36 Question Id : 87827039397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270154781. 1

878270154782. 2

878270154783. 3

878270154784. 4

Question Number : 36 Question Id : 87827039397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270154781. 1

878270154782. 2

878270154783. 3

878270154784. 4

Question Number : 37 Question Id : 87827039398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270154785. 1

878270154786. 2

878270154787. 3

878270154788. 4

Question Number : 37 Question Id : 87827039398 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270154785. 1
878270154786. 2
878270154787.3

878270154788. 4

Question Number : 38 Question Id : 87827039399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270154789. 1
878270154790. 2
878270154791. 3

878270154792. 4

Question Number : 38 Question Id : 87827039399 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270154789. 1
878270154790. 2
878270154791.3

878270154792. 4

Question Number : 39 Question Id : 87827039400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270154793. 1

878270154794. 2



878270154795. 3

878270154796. 4

Question Number : 39 Question Id : 87827039400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2 FH ICQ'Q UQ%: L&) AR (Assertion A) % ®9 ¥ fafaa % a [l T HT (Reason R) F
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FOTR): 10N o 0 faferr A W TfoR TR JoTE o JEw G ¢

U FA o et H, el feu 0 ool o IR S A A
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3) (A) T € o (R) TE T €

4 (A)T W S Ol (R) T B

Options :

(
(
(
(

878270154793. 1
878270154794. 2
878270154795. 3

878270154796. 4

Question Number : 40 Question Id : 87827039401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270154797. 1

878270154798. 2

878270154799. 3

878270154800. 4

Question Number : 40 Question Id : 87827039401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154797. 1

878270154798. 2



878270154799. 3
878270154800. 4

Question Number : 41 Question Id : 87827039402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270154801. 1

878270154802. 2

878270154803. 3

878270154804. 4

Question Number : 41 Question Id : 87827039402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270154801. 1

878270154802. 2



878270154803. 3

878270154804. 4

Question Number : 42 Question Id : 87827039403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270154805. 1
878270154806. 2
878270154807. 3

878270154808. 4

Question Number : 42 Question Id : 87827039403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154805. 1
878270154806. 2
878270154807. 3

878270154808. 4

Question Number : 43 Question Id : 87827039404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
8782701548009. 1
878270154810. 2
878270154811. 3

878270154812. 4

Question Number : 43 Question Id : 87827039404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
e fou 7 foskedi § ¥ W ST A1 FF9 FHINT

(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270154809. 1
878270154810. 2
878270154811. 3
878270154812. 4

Question Number : 44 Question Id : 87827039405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270154813. 1
878270154814. 2
878270154815. 3
878270154816. 4

Question Number : 44 Question Id : 87827039405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
(A) HER &M () 3 G SR T R Gl 3 S o
(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A)-(1D), (B)-(D), (©)-(), (D)-(IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B)  (A)-(0), (B)-(I), (O-(1V), (D)AII)
(4)  (A)-(IV), (B)(IL), (C)-(1T), (D)-(I)
Options :

878270154813. 1

878270154814. 2

878270154815. 3

878270154816. 4

Question Number : 45 Question Id : 87827039406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270154817. 1

878270154818. 2

878270154819. 3

878270154820. 4

Question Number : 45 Question Id : 87827039406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154817. 1
878270154818. 2
878270154819. 3
878270154820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701655
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039407 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827039408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270154821. 1
878270154822. 2
878270154823. 3

878270154824. 4

Question Number : 47 Question Id : 87827039409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270154825. 1

878270154826. 2

878270154827. 3

878270154828. 4

Question Number : 48 Question Id : 87827039410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270154829. 1
878270154830. 2
878270154831. 3

878270154832. 4

Question Number : 49 Question Id : 87827039411 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270154833. 1
878270154834. 2
878270154835. 3

878270154836. 4

:No

Question Number : 50 Question Id : 87827039412 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270154837. 1

878270154838. 2

878270154839. 3

878270154840. 4

Question Id : 87827039407 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827039408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
(1) <R %l G&A1 d9ga ATHF ¢ |
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Options :

878270154821. 1
878270154822. 2
878270154823. 3

878270154824. 4

Question Number : 47 Question Id : 87827039409 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
(1) F=sita fod 7 Qe wed | gfiey e

(2) R YA W GfTEH TR

(3) anforfres Wi =1 fafvafia
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Options:

878270154825. 1

878270154826. 2

878270154827. 3

878270154828. 4

Question Number : 48 Question Id : 87827039410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270154829. 1
878270154830. 2
878270154831. 3

878270154832. 4

Question Number : 49 Question Id : 87827039411 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
(D) Hr=<d9F g
() Tafwrda go

H3 few o faereal § § WE S 1 =9 T
(1) %9 (A), (B) IR (D)

(2) %9 (B), (C) ¥R (D)

(3) FaA (C), (D) ¥R (E)

(4) 9 (A), (D) 3R (E)

Options :

878270154833. 1

878270154834, 2

878270154835, 3

878270154836. 4

Question Number : 50 Question Id : 87827039412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270154837. 1
878270154838. 2
878270154839. 3

878270154840. 4

Tourism Administration and Management

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

878270921
2

Online
Mandatory
92

92

200

Yes

0

1
8782701656
Yes

null



Question Number : 51 Question Id : 87827039413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pain[ing of Allhabad Fort drawn b}r William Hndges 15 presewed n :
(I) National Archives of India, New Delhi

(2) The Victoria Memorial Museum, Calcutta
(3) National Museum, New Delhi
(4) British Museum, London

Options :

878270154841. 1
878270154842. 2
878270154843. 3

878270154844. 4

Question Number : 51 Question Id : 87827039413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270154841. 1

878270154842. 2

878270154843. 3

878270154844. 4



Question Number : 52 Question Id : 87827039414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Chaitya Bhoomi or Dr Babasaheb Bhim Rao Ambedkar Mahaparinirvan Memorial is situated in
the city of :

(I) Nagpur

2

3
4

(2) Poona

(3) Mombay

(4) Satara
Options :
878270154845. 1
878270154846. 2
878270154847. 3

878270154848. 4

Question Number : 52 Question Id : 87827039414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154845. 1
878270154846. 2
878270154847. 3
878270154848. 4



Question Number : 53 Question Id : 87827039415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Indian Institute of Advanced Study (ITAS) is located in the Vice Roi Lodge, Shimla which is now
known as :

(1)  Secretariat of Himachal Pradesh Government
2) Rashtrapati Niwas

(

(3)  Viceroy's House
(4)  Govemor’s House
Options :

878270154849. 1
878270154850. 2
878270154851. 3

878270154852. 4

Question Number : 53 Question Id : 87827039415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270154849. 1
878270154850. 2
878270154851. 3

878270154852. 4



Question Number : 54 Question Id : 87827039416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sardar Vallabhbhai Patel National Memorial Museum is located in Moti Shahi Bagh, Ahmedabad.
Who built the Moti Shahi bagh ?

(1) Khusrau
2

) Shah Jahan
3)  Dara Shukoh
)

Aur enbmb

(
(3
(4
Options :

878270154853. 1
878270154854. 2
878270154855. 3

878270154856. 4

Question Number : 54 Question Id : 87827039416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270154853. 1
878270154854. 2
878270154855. 3

878270154856. 4



Question Number : 55 Question Id : 87827039417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is not one of the four basic physical elements of transport system identified by Cooper, ¢, et.
al (2000) :

(1
(2
(3
(

The way

)

) The terminal
3)  The carrying point
)

}

The accessible terminus

Options :

878270154857. 1
878270154858. 2
878270154859. 3

878270154860. 4

Question Number : 55 Question Id : 87827039417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
F . T S (2000) §R S TC e e & 9% AT o T H G H T AR
Wi Tel &7

(!

%i

2
3
1

14

)
)
)
) ZfifTe

(
(
(

‘%%

Options:

878270154857. 1
878270154858. 2
878270154859. 3

878270154860. 4



Question Number : 56 Question Id : 87827039418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which 1s the gengraphical suburegjnn of the Asia and the Pacific Region ?
(1) Occeania

(2) Caribbean

(3) Benilux

(4) Scandinevian
Options :

878270154861. 1
878270154862. 2
878270154863. 3

878270154864. 4

Question Number : 56 Question Id : 87827039418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Uferr UE eI &1 W Yo 39-413 € 7

(1)  eafafa

(2) e

(3) SifFered

(4) Thf=AfaaE
Options:

878270154861. 1
878270154862. 2
878270154863. 3

878270154864. 4



Question Number : 57 Question Id : 87827039419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The advent of Jet engines and their use in 1950s for commercial air transport resulted in :

(1) Increased stiff competition

2

) Increase in the cost of travel
3)  Providing speed, safety and comfort
)

(
(3
(4)  Ensuring government regulations and control

Options :

878270154865. 1
878270154866. 2
878270154867.3

878270154868. 4

Question Number : 57 Question Id : 87827039419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e 351 o STV (W) % 1950 S R Sforerch o -UfteeA ¥ eh AT 1 WO oA €
(1) & g e Yaai
(2) 7En-=7a W gf e, T T A ST
(3) T, TN T AR ST
(4) R ol o fom 1 gfefoen #
Options :
878270154865. 1
878270154866. 2
878270154867. 3

878270154868. 4

Question Number : 58 Question Id : 87827039420 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is not an example of Enclave Tourism that grew during the post~sec0nd World War as a
form of a full [ledged resort ?

(1) Club Mediterannce (1955)
(2) Club Accord (1958)

(3)  Club Soleil (19%6)

(4) Radisson Club (1970)

=y

Options :

878270154869. 1
878270154870. 2
878270154871.3

878270154872. 4

Question Number : 58 Question Id : 87827039420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frffin & 217 fch ofa. & (390) e 91 0 SR 1 ¢ foreen foerm fct fovl 75 weam
T T §0 o & w9 W g
(1) d@ Hfger (1955)
(2) o TS (1958)
(3) o GrerEe (1966)
(4) tewd % (1970)
Options:
878270154869. 1
878270154870. 2
878270154871. 3

878270154872. 4



Question Number : 59 Question Id : 87827039421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following food items minced meat was replaced by potatoes after its import in
India ?

(1) Kachori

(2
(3
(

Parantha

4

; Aalupuri
) Samosa
Options :
878270154873. 1
878270154874. 2
878270154875. 3

878270154876. 4

Question Number : 59 Question Id : 87827039421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

feffian & & form e o W78 o M 3 4 T ST 1 AT, ST W 39 ST o e 2 o /

Options :

878270154873. 1
878270154874. 2
878270154875. 3

878270154876. 4



Question Number : 60 Question Id : 87827039422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Monuments Authority (NMA) has been constituted to :

(I) Regulate development and construction activity in the vicinity of monuments that fall under
the statutory provisions of the AMASR Act.

(2)  See and regulate the administration of monuments

(3)  Appoint an architect having special knowledge of Indian history and heritage

(4) Have a vigil on the activities of tourists visiting monuments

Options :

878270154877. 1

878270154878. 2

878270154879. 3

878270154880. 4

Question Number : 60 Question Id : 87827039422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Tt e, R (W00, 0, 4R, W) 1 e feaferfie Stw A g e

(1) TTHTTH S (AMASR Act) % Hefaferdh WEH o S-7Id SR o i foehmg /T
iafafii 1 fafmafim

(2) I % T ] <EE T o #

(3) e Sfe T8 o 1 fery 1 T sl e o g

(4) T H Sl T i A W AR T

Options :

878270154877. 1

878270154878. 2

878270154879. 3

878270154880. 4



Question Number : 61 Question Id : 87827039423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1969, Aga Khan Palace was donated to the people of India by Aga Khan IV as a mark of respect
to:

(I) Ashoka and his policy

(2)  Akbar and his policy

(3)  Jawaharlal Nehru and his policy
(4) Mahatma Gandhi and his policy
Options :

878270154881. 1
878270154882. 2
878270154883. 3

878270154884. 4

Question Number : 61 Question Id : 87827039423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
i 1969 5 & @ 1V g et & § o SR S T 6 @ o A T e g e
q:.

(1) e a9 39 Af

(2) o a3 A

(3) el g% qu1 3! i
(4) RO ¥R e SR A

Options :

878270154881. 1

878270154882. 2

878270154883. 3

878270154884. 4



Question Number : 62 Question Id : 87827039424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The Narmada is the longest river in Gujarat. It rises from :
(1) Amarkantak Plateau
(2) Janapao Hills

(3) Aravali Hills

(4) Satpura Ranges
Options :

878270154885. 1

878270154886. 2

878270154887. 3

878270154888. 4

Question Number : 62 Question Id : 87827039424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HET & T i Had Tel 74l ¢ | I8 Fel 4 Y& el @ ?
(1) 3T hl ISH

(2) SR Tefear
(3) IWEEt o geifedl
(4) wegEr Aof
Options :

878270154885. 1
878270154886. 2
878270154887. 3

878270154888. 4

Question Number : 63 Question Id : 87827039425 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Our mission is to represent, lead and server the airline industry” is the statement of :

1) IATA

{

(2) PATA
(3) ICAO
(4) DGCA
Options :

878270154889. 1
878270154890. 2
878270154891. 3

878270154892. 4

Question Number : 63 Question Id : 87827039425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" 2R Y AR S 6 St el O, Sl O U6 6 T A ¢ 9 (e 3 ()
t?

(1) @
@ Wi
(3) emEdTaA
(@ dHH

]

1
Options:

878270154889. 1
878270154890. 2
878270154891. 3

878270154892. 4

Question Number : 64 Question Id : 87827039426 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which oldest and continuously inhabited Indian City in the world was called "The Ancient City’
which lord Buddha visited in 500 BC :

(1) Kolkata

(2) Delhi

(3) Varanasi

(4) Prayagraj
Options :
878270154893. 1
878270154894. 2
878270154895. 3

878270154896. 4

Question Number : 64 Question Id : 87827039426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fe/el 1 T 1 R Ho) Wl 0 Foie 9 9 aifvanfio (armgen) IR R & foeet ‘i R o
A ¢ ST 57 21 500 $ETYel W ST 5 7 v e 47
(1) e
Q) et
(3) e
(4) AR
Options:
878270154893. 1
878270154894. 2
878270154895. 3

878270154896. 4



Question Number : 65 Question Id : 87827039427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which amongst the fﬂllnwing 1s not an Aircraft manutacturer :

(1) Airbus

(2)  Mc Donnell Douglas
(3) GMR

(4) Fokker
Options :

878270154897. 1
878270154898. 2
878270154899. 3

878270154900. 4

Question Number : 65 Question Id : 87827039427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfafea o @ #m-us s fafmia 78 € 2

(1) TIE"
(2) WHIEHA STeH
(3) S TH N
(4) THIFERT
Options :

878270154897. 1
878270154898. 2
878270154899. 3

878270154900. 4

Question Number : 66 Question Id : 87827039428 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tourism is one of the key employment generating sectors globally. As per the 3¢ Tourism Satellite
Account (TSA), the estimated share of tourism jobs in India during 2020-21 was :

(1) 10.91%

(2) 12.91%

(3) 15.91%

(4) 18.91%
Options :
878270154901. 1
878270154902. 2
878270154903. 3

878270154904. 4

Question Number : 66 Question Id : 87827039428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

T & e 9§ YE TR (I (G5) T e 4 W 8 T ¢ AT e 39 o (4T

T) o SR 6 2020-21 % S S H e o 4 H T () 7 St fewen fore €7
(1) 10.91%
(2) 1291%

(3) 15.91%

(4) 18.91%
Options:
878270154901. 1
878270154902. 2
878270154903. 3

878270154904. 4

Question Number : 67 Question Id : 87827039429 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Whitney System of Reservation was developed by the American Whitney Duplicating Check
Company and is suitable for small to medium properties. Whitney slips used in this system are also
known as :

(I)  Shannon slips

(2) Sabreslips

(3) Bedroom Journal

(4)  Worldspan slips

Options :

878270154905. 1

878270154906. 2

878270154907. 3

878270154908. 4

Question Number : 67 Question Id : 87827039429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fiez forem At Frordom O e feeR Soferon 3% o g0 foafin 91 8 o g & o
et 3 fore SR & 39 ot & e foee e o Fer A R off T £
9 fierg

Options:

878270154905. 1
878270154906. 2
878270154907. 3

878270154908. 4



Question Number : 68 Question Id : 87827039430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Modern menus first appeared during the early 19th Century, in the restaurants of the
Palais-Royal.

(1) Italian

(2) Russian

(3) Parisian

(4)  American

Options :

8782701549009. 1
878270154910. 2
878270154911. 3

878270154912. 4

Question Number : 68 Question Id : 87827039430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e (97]) SIo-T Fem S e % YT § fmfafes # § o 3 % et
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Options :

878270154909. 1
878270154910. 2
878270154911.3
878270154912. 4



Question Number : 69 Question Id : 87827039431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a classification of Hotels on the basis of Clientele ?
(1) Suite

2
3

4

(2)  Franchise

(3) Condominium
(4) Casino
Options :
878270154913. 1
878270154914. 2
878270154915. 3

878270154916. 4

Question Number : 69 Question Id : 87827039431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frefafiga § 9 fea srfafedi & snar w eea =1 onffer 9= 82

(1) 9z

(2) s
(3) FrerHEH
(4) FHEFAI
Options :

878270154913. 1
878270154914. 2
878270154915. 3

878270154916. 4

Question Number : 70 Question Id : 87827039432 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which type of table service in food & beverage services, the presentation and service of food is
done by waiting staff, using a spoon and fork, on a customer’s plate, team food plates or dishes ?
(1) English

(2) American

(3) French

(4)  Russian
Options :
878270154917. 1
878270154918. 2
878270154919. 3

878270154920. 4

Question Number : 70 Question Id : 87827039432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

W79 T T T W % (o TR 1 Coe HeE H e R g Tew F W ¥ B T S
T B w7 790 S 1 T A G IS el & 9 7

1)z
Q) o
() *
(W) e
Options:

878270154917. 1
878270154918. 2
878270154919. 3

878270154920. 4



Question Number : 71 Question Id : 87827039433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who authored the guide book “The Grand Tour” in 1749 that gave a further boost to the educational
tour and some infrepid travellers ventured as far as Egypt ?

(I) Inigo Jones

@)

(3) Ben Bova
(4)

Thomas Howard

4)  Thomas Nugent
Options :
878270154921. 1
878270154922. 2
878270154923. 3

878270154924. 4

Question Number : 71 Question Id : 87827039433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forr o 1749 % 2 e 0" vivweh et e ufeen o e o o o Qe €1 (wfem)
T 5l ol 8 9 el wes 7 e T o Wl @ R ?

3 T

Options :

878270154921. 1
878270154922. 2
878270154923. 3

878270154924. 4



Question Number : 72 Question Id : 87827039434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In the chain of travel trade distribution, vertical integration does not include :
()
(2)  Wholesaler
(3) Retailer

(4) Aggregator

Supplier

Options :

878270154925. 1
878270154926. 2
878270154927.3

878270154928. 4

Question Number : 72 Question Id : 87827039434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
I =R foewor it ggen ¥, Srd e § 9 e 2l g € 2
(1)  emgfepa

(2)  odreR-Taskar
(3) e fersea
(4) A
Options :

878270154925. 1
878270154926. 2
878270154927. 3

878270154928. 4

Question Number : 73 Question Id : 87827039435 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Following factors encouraged the growth of the package holiday in Europe in the second half of
the 202" Century, except :

(I) Expansion of leisure time in the developed countries
(2) Increase in discretionary income in those countries
(3)  Low costs of package holiday, both in themselves and in comparison to similar holidays in

the home country
(4)  Elimination of travel formalities
Options :
878270154929. 1
878270154930. 2
878270154931. 3

878270154932. 4

Question Number : 73 Question Id : 87827039435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

et forg T e & Sifaftar fol Tehl 4 el Wiates] o 3 § 409§ Jokd gt (iefie) 1
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(1) fofion <o & g o 1 faer
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(4) 7N RS H e

Options:

878270154929. 1
878270154930. 2
878270154931. 3

878270154932. 4



Question Number : 74 Question Id : 87827039436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The invention of coach in its most primitive form in the Hungarian town of Kocs in the 15™ Century
was facilitated with a daily service in Britain by the mid - 1600s from :

(1) Oxford to Wattord

(2)  Guilford to London
(3)  London to Oxford

(4) Hungerford to Enfield
Options :
878270154933. 1
878270154934. 2
878270154935. 3

878270154936. 4

Question Number : 74 Question Id : 87827039436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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(

878270154933. 1
878270154934. 2
878270154935. 3

878270154936. 4



Question Number : 75 Question Id : 87827039437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Many Tourism and Hospitality industry specialists believe that to compete effectively hotels, resorts
and cruise lines need seamless connectivity in their ;

(I) Management Information Systems

(2) Market Intelligence Systems

(3) Market Information Systems

(4)  Computer Reservation Systems

Options :

878270154937. 1

878270154938. 2

878270154939. 3

878270154940. 4

Question Number : 75 Question Id : 87827039437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g0 A e A Aol AR e fonbm o 7 W € fo ol ofeeed o e, T a1 39
T St F A A o TR R T SR ¢

(1) et S Jomed

(2) TSI S Jore

() R e et

(4) P HARE O

Options :

878270154937. 1

878270154938. 2

878270154939. 3

878270154940. 4



Question Number : 76 Question Id : 87827039438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A tourism hosplhhlv company needs to sludv five types of ¢ beneml customer markets closely.
Which one of the [n]lowmb is NOT the type of the geneml customer market ?

(1) Resellers

2)  NGOs

3)  Government
)

(
(3
(4

[nternational Agency
Options :
878270154941. 1
878270154942. 2
878270154943. 3

878270154944. 4

Question Number : 76 Question Id : 87827039438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

e ol TR FE B UG R F W Tk o 6 G A A ] S ¢
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Options :

878270154941. 1
878270154942. 2
878270154943. 3
878270154944, 4



Question Number : 77 Question Id : 87827039439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tourism and Hospitality firms should choose supporting products that are not easily matched by :
(1) Customers

2

) Channel partners
3)  Competitors
)

(
(3
(4)  Advertising agency

Options :
878270154945. 1
878270154946. 2

878270154947. 3

878270154948. 4

Question Number : 77 Question Id : 87827039439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
T At HER F A o FerE T H A FE A S S g g
firem A 21
) e
(2) =7 FEA
(3) et
(&) fomme o
Options :
878270154945, 1
878270154946. 2
878270154947. 3

878270154948. 4



Question Number : 78 Question Id : 87827039440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is NOT a part of the distribution channel ?
) Tour operator

(2) Travel agent

(3) Packaging firm

(4) Shipper

Options :

878270154949. 1

878270154950. 2

878270154951. 3

878270154952. 4

Question Number : 78 Question Id : 87827039440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fefoafea § | 9 faaro == = feeqr 125 €2

(1) T RS

(2) AN TS

(3) oRSl TR LA Tl AT

(4) (form) wsH =
Options :

878270154949. 1
878270154950. 2
878270154951. 3

878270154952. 4

Question Number : 79 Question Id : 87827039441 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

One of the first public strategies on Tourism and Sustainability was formulated out of :
(1) The Globe’ 90 Conference in USA

(2) The Globe" 90 Conference in Canada

(3) World Tourism Conference in Mexico

(4) World Tourism Conference in Switzerland

Options:

878270154953. 1

878270154954. 2

878270154955. 3

878270154956. 4

Question Number : 79 Question Id : 87827039441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fwifeed & § i 6 #3695 99w Yeeen 309 T U6 weefafee) & fo o 7 2
(1) Teltel 90 Fh, ZUHT,
(2) TTEld 90 FHE, FAE
(3) acE I FH, HHTH
(4) o W FHY, WHaTe

Options:

878270154953. 1
878270154954. 2
878270154955. 3
878270154956. 4

Question Number : 80 Question Id : 87827039442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following provoked Rachel Carson (1%2) to raise the red flag for modem-day
concern for the environment, in his book entitled “Silent Spring”, as the fundamental argument ?

(I) The massive urbanization and migration leading to climate change
(2)  The pollution caused by the tourism industry

(3)  The detrimental effects of pesticides on the sustainability of life

(4)  The propulsion explosion or resource shortage

Options :

878270154957. 1

878270154958. 2

878270154959. 3

878270154960. 4

Question Number : 80 Question Id : 87827039442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefefan o 4 g e 3 T B (1962) 9 91 TR0 Weaie o' § e & Hfee Soe
% B9 ¥ oy T A e & fo e sem o fo of o ?

(1) S Tete a1 TR S Serar fed & &9 H S o ¢

2) T T g 3 Yeu

3) S 3 YR & 94§ e #1 o g

4) T F & FaY H I foe

Options :

(
(
(

878270154957. 1
878270154958. 2
878270154959. 3

878270154960. 4

Question Number : 81 Question Id : 87827039443 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In widely cited United Nations "Human Development Index (HDI)', development includes the
following, excepts :

(I) Longevity

2

(3) Income
g

Knowledge

Happiness

Options :

878270154961. 1
878270154962. 2
878270154963. 3

878270154964. 4

Question Number : 81 Question Id : 87827039443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fereqa 9 ¥ Sfeetfian I T A T Y (T o) o o § fwfefed % s
e §

Options:

878270154961. 1
878270154962. 2
878270154963. 3

878270154964. 4



Question Number : 82 Question Id : 87827039444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the fc.‘sllowing 1s NOT a pmducer organization Fi

(1) WTTC

(2) IATA
(3) PATA
(4) BSTC

Options :

878270154965. 1
878270154966. 2
878270154967. 3

878270154968. 4

Question Number : 82 Question Id : 87827039444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfafeaa o | F SR §7ed 78 ® 7
(1) g & &

@ sETdT

3 dudw

(4) S TH &

Options:

878270154965. 1
878270154966. 2
878270154967. 3

878270154968. 4

Question Number : 83 Question Id : 87827039445 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following assumption does NOT hold good for the application of t" test ?
(1)
(2)
(3) Samples are taken from population having identical variables
(4)

4

Sampling distribution of X; — X, is normally distributed

Each score of dependent variable occurs at random

Measurements are done in terms of the ordinal scale of measurement

Options :

878270154969. 1
878270154970. 2
878270154971.3

878270154972. 4

Question Number : 83 Question Id : 87827039445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fretfefad w9 @ GEROTE ¢ Fe % ST 3 S 76 a2
1) Xy — X, F 9q=ad 527 gmr=a: fafsa & 2

2) 3N =R U i ATgied 9 H A © |

3)  UuEq =R 9wl SEen ¥ yfaewt # ferm S e

(4) T, HIYE F FwEGEE w9 § & Geof ¥ faE W

—— .

Options:

878270154969. 1
878270154970. 2
878270154971.3

878270154972. 4

Question Number : 84 Question Id : 87827039446 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is correct about descriptive research ?

(1) Describes characteristics of objects, people, groups or organisations; tries to painta picture of
a given situation

(2)  Clarifies ambiguous situations or discovers ideas that may be potential business opportunities

(3) Indifies cause and effect relationship

(4)  Guides and refines subsequent research effects

Options :

878270154973. 1

878270154974. 2

878270154975. 3

878270154976. 4

Question Number : 84 Question Id : 87827039446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR WY o o A Frefean SR-a1 Fe 58 22
(1) o, A, Sl 91 e %I fomuaad 1 v, Yoo feafd % fort for (qaii) 1 fofo
F F T F|

(2) eyt et o1 e 0 1 O forem) @ v A (@) W S st s @
e
(3) T T GHTE Helt] o 9l S
(4) e e e A el A ot
Options:
878270154973. 1
878270154974, 2
878270154975. 3

878270154976. 4



Question Number : 85 Question Id : 87827039447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following establishes the ability of a measure to correlate with other standard measures
of similar constructs ?
(1) Face validity

)
(2) Content validity
(3)  Criterion validity
(4)  Construct validity
Options :

878270154977. 1
878270154978. 2
878270154979. 3

878270154980. 4

Question Number : 85 Question Id : 87827039447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

rreiferfin 9 W ) e o) e et et o e W o W o wa o e e e
(1) axﬁméw

Options :

878270154977. 1
878270154978. 2
878270154979. 3

878270154980. 4



Question Number : 86 Question Id : 87827039448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The approach to study human experiences, based on the idea that human experience itself is
inherently subjective and determined by the context in which people live, is known as :
(I) Phenomenology
2)  Ethnography
3)  Grounded Theory
Y

(
(3
(4)  Case studies
Options :
878270154981. 1
878270154982. 2
878270154983. 3

878270154984. 4

Question Number : 86 Question Id : 87827039448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fereR e TRl Sl 3 A ¥ ST o WG e e e Qo 8 ¢ o el
émﬁ%@wﬁﬁﬁmﬁﬁsﬁﬁaﬁwm‘%

Options :

878270154981. 1
878270154982. 2
878270154983. 3

878270154984. 4



Question Number : 87 Question Id : 87827039449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT amongst the needs as per McClland's Theory of Needs ?
(1)  Need for achievement

(2) Need for power

(3) Need for affiliation

(4) Need for esteem

Options :

878270154985. 1

878270154986. 2

878270154987. 3

878270154988. 4

Question Number : 87 Question Id : 87827039449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fieie % STl & fagr % o frefafed § 4 0 sravasa = 87
(1) SUcIed i SEvaEHd

(2) Wk I SR
(3) Hergdl I STEyHeRdl
(4) TEH &I AEVEHRA

Options :

878270154985. 1
878270154986. 2
878270154987.3

878270154988. 4

Question Number : 88 Question Id : 87827039450 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When communication takes place among members of the same work group, members of groups at
the same level, managers at the same levels or any other horizontally equivalent works, itis described
as:

1
2

Lateral communication
Upward communication

()
()
(3) Oral communication
(4)

4)  Down ward communication

Options :

878270154989. 1
878270154990. 2
878270154991. 3

878270154992. 4

Question Number : 88 Question Id : 87827039450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

A Sl TR R TR T T o W G W o Tod SH TR % T e 5 Sfow
&Y H G o 9 HaIR &l ¢, 3 3 1 el A &

(1) vl Hale (eiete FferTm )
) a%fi Haﬁ ama're,‘mﬁw
(3)

(4) atﬁ LGl (mﬁ FHTH)
Options:

878270154989. 1
878270154990. 2
878270154991. 3

878270154992. 4



Question Number : 89 Question Id : 87827039451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following describes a positive feeling about a job, resulting from an evaluation of its
characteristics ?

(1) Job involvement

2

(2)  Organizational commitment
(3) Job satisfaction
g

4)  Employee engagement
Options:
878270154993. 1
878270154994. 2
878270154995. 3

87827015499%6. 4

Question Number : 89 Question Id : 87827039451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

et ® 4 fore o7 o HaY § WEes e hed § — S 39 (el o Yo § 9o A

Options :

878270154993. 1
878270154994, 2
878270154995. 3

87827015499%6. 4



Question Number : 90 Question Id : 87827039452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
A contract which can be set aside or repudiated at the option of the aggrieved party is :
) Voidable contract
2)  Void contract
) Valid contract
) Unenforceable contract
Options :
878270154997. 1
878270154998. 2
878270154999. 3

878270155000. 4

Question Number : 90 Question Id : 87827039452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Hiagy S Hifed IR % fomhed & STHR W STEEHR 196 9Ig 9 39 Fed ©
(1) SEFEHIE Fiore]

(2) fem HfaE

(3) W HfaEl
(4) FgaHE Gowr
Options :

878270154997. 1
878270154998. 2
878270154999. 3

878270155000. 4

Question Number : 91 Question Id : 87827039453 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements from the following :

(A) Scatter plot shows relationship between two variables

(B) A normal distribution curve depends on mean and standard deviation

(C) The Kruskal-wallis H-test is score dependent statistic

(D) Variation of samples mean from population mean is standard error of difference between
two means

(E)  Z-Score criteria is applicable to skewed deviation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (B) and (D) Only
(4) (D) and (E) Only
Options:

878270155001. 1
878270155002. 2
878270155003. 3

878270155004. 4

Question Number : 91 Question Id : 87827039453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefefiaa # & w&t el =l 9

(A) TheT wie T =R & 7L HaY H1 TS FW1 B

(B) IS WM 927 99 WA UG fAMR T ¥ |

(C) FEFA-dlcrd TH-T4T 3 A4 Hifemhl 2|

(D) <G Ared § gfaey] WIed 1 W S WA o WA WIS TR
(E) 9T TR HHeve faun faua &g vaed g e |

F e o foeredi # | TR ST B T FIC
(1) < (A) 3R (B)
(2) FE (C) IR (D)
(3) ad (B) 3R (D)
(4) Fa (D) ¥R (E)
Options :

878270155001. 1
878270155002. 2
878270155003. 3

878270155004. 4

Question Number : 92 Question Id : 87827039454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following are the probability sampling techniques, excepts :
(A) Judgemental Sampling

(B) Snowbal Sampling

(C) Systematic Sampling

(D) Cluster Sampling

(E) Stratified Random Sampling

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C€) and (D) Only

(3) (D) and (E) Only

(4) (B) and (D) Only

Options:
878270155005. 1
878270155006. 2

878270155007. 3
878270155008. 4

Question Number : 92 Question Id : 87827039454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=g sfafaa Fefafa $E-d s yfa==a gfafemr €2

(A) SeHed wfaaad
(B) HE@ia gfd=ad
(C) gexafeud gfd=aH

(D) TR (Hqed) Fa=raa

(B) wIiiha dArgiwss gfa=sd

=1 feu T foehedi H§ | Wet STY o 99 Hifel
(1) I (A) TR (B)

(2) %9 (C) 3R (D)
(3) 9w (D) iR (E)
(4) e (B) 3R (D)
Options :

878270155005. 1
878270155006. 2
878270155007. 3

878270155008. 4

Question Number : 93 Question Id : 87827039455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fullowing situations call for qualital‘ive research, except :
A} When it is difficult to develop specific and actionable problems statements
P 5p p

(B) When the research objective is to develop an understanding of some phenomena in great

detail

(C) When the research objective is to learn how a phenomena occurs in its natural setting

(D) When a measure is formally to be validated to make sure it reliably captures the intended
concept

(E)  When the purpose is to test hypothesis or specific research questions
Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only
Options :
8782701550009. 1
878270155010. 2
878270155011. 3

878270155012. 4

Question Number : 93 Question Id : 87827039455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270155009. 1
878270155010. 2
878270155011. 3

878270155012. 4

Question Number : 94 Question Id : 87827039456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The World Tourism Organisation (WTO) global code of ethics provides a framework designed to
promote the following, except :

(A) Responsible Tourism

(B) Sustainable Tourism

(C) Universally Accessible Tourism

(D) Pro-poor Tourism

(E) Social Tourism

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2)  (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only
Options :
878270155013. 1
878270155014. 2
878270155015. 3

878270155016. 4

Question Number : 94 Question Id : 87827039456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fel e e (2o & o) 1 afvaes o fe O e e ) o e fvfafen &
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(A) Fomier T

(B) W T
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Options:

878270155013. 1
878270155014. 2
878270155015. 3

878270155016. 4

Question Number : 95 Question Id : 87827039457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Environmental audits being conducted for tourism include :
(A) Compliance audit

(B) Activity audit

(C) Manpower audit

(D) Community audit

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (A) and (B) Only

(3) (B) and (D) Only

(4) (C) and (D) Only



Options :

878270155017. 1
878270155018. 2
878270155019. 3

878270155020. 4

Question Number : 95 Question Id : 87827039457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e o foru TaieitE o e | e ©
(A) ST @ gl
(B) Tifafafy orar wiian
(C) gwwifea o gda
(D) THEE i@l giiat
A feu T feppedi § 9 W& TR A =74 BN
(1) 99 (A) & (C)

(2) I (A) TR (B)
(3) = (B) 3R (D)
(4) A (C) 3R (D)
Options :

878270155017. 1
878270155018. 2
878270155019. 3

878270155020. 4

Question Number : 96 Question Id : 87827039458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the product concept passes the business test it moves into a prototype. Restaurants can develop
prototype of menu items, hotels build guest room prototype. Following are the criteria that require
to be met to find the prototype::

(A) Consumers perceive it as having the key features described in the product concept statement
(B) It performs well under normal use

(C) Prototype is not limited to the care product

(D) The company must decide whether it is right time to infroduce the new product

Choose the correct answer from the options given below :

(I) (A) and (D) Only

(2) (C) and (D) Only
(3) (A) and (B) Only
(4) (B) and (D) Only
Options:
878270155021. 1
878270155022. 2
878270155023. 3

878270155024. 4

Question Number : 96 Question Id : 87827039458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155021. 1
878270155022. 2
878270155023. 3
878270155024. 4

Question Number : 97 Question Id : 87827039459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tourists are attracted to a certain destination that include various elements. Some of these attractions
nclude :

(A} Service

(B) Product

(C) Travel Agent's offer

(D) Spatial patterns of world tourist activity

Choose the correct answer from the options given below :
() (4)(8) (D) Only

Q) {) () (0) Only
() (0) (D) (A) Only
() (A), (B), (C) Only



Options :

878270155025. 1
878270155026. 2
878270155027. 3
878270155028. 4

Question Number : 97 Question Id : 87827039459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YHeeh Hiaqud Tl o fd arerfta g € forad =62 a8 wfre e €|

(A)
(B) IS
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)
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(1) == (A), (B), (D)
(2) *Fd (B), (O), (D)
(3) @A (), (D), (A)
(4) FFA (A), (B), (C)

Options:

878270155025. 1
878270155026. 2
878270155027. 3

878270155028. 4

Question Number : 98 Question Id : 87827039460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The man elements of marketing programme are described in terms of 4Ps, product, price, promotion
and place. These 4Ps marketing approaches work well for goods, but additional Ps require attention
in tourism business, which include :

(A) People

(B) Physical factors

(C) Planning

(D) Processes

Choose the correct answer from the options given below :

() (), (8), (D) Only

) (A), ) (C) Only
) () (C) (D) Only
) |

4 (4) ©), ©) Only

(
(3
(
Options:
878270155029. 1
878270155030. 2
878270155031. 3

878270155032. 4

Question Number : 98 Question Id : 87827039460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A)

(B) Toere ey

()

(D) W
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Options :

878270155029. 1
878270155030. 2
878270155031. 3
878270155032. 4

Question Number : 99 Question Id : 87827039461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which factors are not atfecting cruise line package costs ?
(A) Height of the cruise

(B) Density of the ship

(C) Position of port

(D) Date (season) of travel

Choose the correct answer from the options given below :
(1)  (A) and (C) Only

(2) (B) and (C) Only

(3) (A) and (B) Only

(4) (C) and (D) Only



Options :

878270155033. 1
878270155034. 2
878270155035. 3
878270155036. 4

Question Number : 99 Question Id : 87827039461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

fretfafaa § § $9-9 F7F FoaEd T Fmd # Tl qufed w9 €2

(A) FF T

(B) TS % S

(C) Y= (S=TTe) =i feufd

(D) =N 1 fafy (Hiew)

A feu U foskhedl W § Wel ST 1 99 Tl ;
(1) <Fad (A) 3R (C)
(2) @had (B) 3R (C
(3) A (A) 3R (B)
(4) dFd (C) R (D)

e

Options:

878270155033. 1
878270155034. 2
878270155035. 3

878270155036. 4

Question Number : 100 Question Id : 87827039462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which were the innovative travel-easy concepts introduced by Thomas Cook for making travel
easier ?

(A) Traveller's cheque

(B) Credit note

(C) Circular note

(D) Hotel coupon

Choose the correct answer from the options given below :

(1) (A) and (D) Only

) (8)and (C) Only
(3) (A)and (B) Only
(4 (O and (D) Only
Options :

878270155037. 1
878270155038. 2
878270155039. 3

878270155040. 4

Question Number : 100 Question Id : 87827039462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) TR
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C) TFeR e
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Options :

878270155037. 1
878270155038. 2
878270155039. 3

878270155040. 4

Question Number : 101 Question Id : 87827039463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For convenience of travelo-tourists the Indian monarchs facilitated them by building :
(A) Kos miners

(B) Sarais

(C) Temples and mosques

(D) Slaughter houses

Choose the correct answer from the options given below :

(1) (A), (B) Only

2 () (0 Only
) (O (D) Only
@ (A), [0 Only



Options :

878270155041. 1
878270155042. 2
878270155043. 3

878270155044. 4

Question Number : 101 Question Id : 87827039463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T e A gl 3 for s TR 3 for e Foeon s
(A) = foFR
(B) wd
(C) s T Wi
(D) SEEEr
e fou o fosredi # © W SO A 99 FHfU
1) ¥ (A), (B
2) % (B), (O)
3) % (C), (D)
) (

4) @ A), (D)

(
(
(
(
Options:

878270155041. 1
878270155042. 2
878270155043. 3

878270155044. 4

Question Number : 102 Question Id : 87827039464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following countries still legalise the whale hunting ?
(A) Senegal

(B) Japan

(C) Norway

(D) Iceland

Choose the correct answer from the options given below :

(1) (B), (), (D) Only

(2) (A), (©, (D) Only

(3)  (A), (B), (C) Only
(4) (A), (B), (D) Only
Options:

878270155045. 1
878270155046. 2
878270155047. 3

878270155048. 4

Question Number : 102 Question Id : 87827039464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forefefiaa & & fo fora 39 8 e &1 R 3 32
(A) T

(B) ST

(C) =

(D) @EHEdS

= feu v fasredi § 9 | 3O & =94 iU -
(1) %= (B), (C), (D)

(2) 9 (A), (©), (D)

(3) %ad (A), (B), (O)

(4) F=A (A), (B), (D)

Options :



878270155045. 1
878270155046. 2
878270155047. 3

878270155048. 4

Question Number : 103 Question Id : 87827039465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following travellers came to India from France ?
(A) Francois Bernier

(B) Niccolao Manucci

(C) Jean Baptiste Tavernier

(D) Afanasy Nikitin

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (C) and (D) Only

Options :

878270155049. 1
878270155050. 2
878270155051. 3

878270155052. 4

Question Number : 103 Question Id : 87827039465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



frefafes § 9 #9-9 96 B9 ¥ 9rg e 9 ?
(A) e I
(B) TAepTEISd w=
(C) ¥ Sufee TerRfER

THAT fRifa
= feu v fasredi § 9 9 39T & =94 Hif6U
(1) <9 (A) 3R (B)

(2) 9 (A) 3R (C)
(3) %ad (B) ¥R (Q)
(4) 9 (C) $TR (D)
Options:

878270155049. 1
878270155050. 2
878270155051. 3

878270155052. 4

Question Number : 104 Question Id : 87827039466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which wide - body aircrafts followed the first largest Boeing 747 after 1970 ?
(A) McDouglas Bc - 1012 ministar

(B) The Twin - engine Lockheed L - 2033 sevenstar

(C) McDonnell Douglas Dc - 10

(D) Lockheed L - 1011 Tristar

(E) The twin - engine airbus A 300

Choose the correct answer from the options given below :

(1) (C), (D) and (E) Only

(2)  (B), () and (D) Only
() (A), (D) and () Only
(4) (B), (C) and (E) Only



Options :

878270155053. 1
878270155054. 2
878270155055. 3

878270155056. 4

Question Number : 104 Question Id : 87827039466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g4 1970 % 1% Y9N Hard ] a1gT-747 o TYEI -9 e SR o6l A Ha H 3
(A) HaeTa T - 1012 firfier
(B) e 39 e S Tal - 2033 FoTR
(C) Haerd ETe™ S - 10
(D) wieFere T - 1011 fRR
(E) 3 T el THaH T - 300
el feu T foedl | WE S B T I

Options:

878270155053. 1
878270155054. 2
878270155055. 3

878270155056. 4

Question Number : 105 Question Id : 87827039467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which are the aspects of tourism transport identified by Hall, D.R. (1999) ?
( Linking the origin and the destinations

(B) Providing mobility access within destinations

(C) Determing destination footfall management

(D) Facilitating travel along a recreation route

(E) Ensuring travel between destinations and transit point

Choose the correct answer from the options given below :

(1) (C) and (E) Only

(2) (A), (B) and (E) Only
(3) (D) and (E) Only

(4) (A), (B) and (D) Only
Options :

878270155057. 1
878270155058. 2
878270155059. 3

878270155060. 4

Question Number : 105 Question Id : 87827039467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 9d (C) 3R (E)

() a4 (A), (B) ¥R (E)
(3) (D) &1 (E)
(4) (A), (B) 3 (D)

)
)

Fad
e
Options :

878270155057. 1
878270155058. 2
878270155059. 3

878270155060. 4

Question Number : 106 Question Id : 87827039468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are the fundamental components of air transport ?
(A) Air Navigation

(B) Equipment Manufacture

(C) Air Traffic Control

(D) Air Traffic Promotion

(E) Passenger Traffic Network

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2)  (B), (C) and (D) Only
(3) (A), (B) and (C) Only
(4) (©), (D) and (E) Only
Options:

878270155061. 1
878270155062. 2
878270155063. 3

878270155064. 4

Question Number : 106 Question Id : 87827039468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa i ar-uftae F ammya (difas) T2 €2
(A) TEEE-=TeH

(B) Uty fafwion

(C) waE-grarard s

(D) TAR-ATArEN FiedTe

(E) Ar-Fmamm dredred

4 few U foeredi © | TE IR F =977 FC
(1) 9 (A), (B) 3R (E)

(2) %94 (B), (C) &R (D)

(3) e (A), (B) &R (C)

(4) % (C), (D) ¥R (E)

Options :

878270155061. 1

878270155062. 2

878270155063. 3

878270155064. 4

Question Number : 107 Question Id : 87827039469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The commodization tourism has pejorative connotation, especially when applied to :
(A) Cultural Patrimony

(B) Sacred Performances

(C) Child labour

(D) Sexual services

(E) Rare and endangered species

Choose the correct answer from the options given below :
() (4), (8)(C), (D) Only

2 () (D) (& Only
() (A). () (O, (D), (&) Only
@ (B) (C), (D) Only

Options:

878270155065. 1
878270155066. 2
878270155067. 3

878270155068. 4

Question Number : 107 Question Id : 87827039469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 54 (A), (B), (O), (D)
(2) A (B), (D), (E)
(3) ¥ (A), (B), (C), (D), (E)
(4) F= (B), (O) (D)
Options :

878270155065. 1
878270155066. 2
878270155067. 3

878270155068. 4

Question Number : 108 Question Id : 87827039470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Communication mix in tourism business is the combination of :
(A) Advertising

(B) Personal Selling

(C) Public Relations

(D) Sales Promotions

Choose the correct answer from the options given below :
(1) (A), ©), (D) Only

(2) (A), (B), (O), (D) Only

(3) (B), (C) Only

(4)  (C), (D) Only



Options :

878270155069. 1
878270155070. 2
878270155071. 3

878270155072. 4

Question Number : 108 Question Id : 87827039470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g fafga gdea = o fraes gaeq 2 e

(A) Ta=maE
(B) =ATHmTa forsht
(C) HrEseF H9eh

(D) forskT geamed
= feu MU fasredi ©§ 9 WE SO o 999 HIfad
(1) ¥4 (A), (©), (D)

(2) = (A), (B), (O), (D)
(3) e (B), (C)

(4) % (O), (D)

Options:

878270155069. 1
878270155070. 2
878270155071. 3

878270155072. 4

Question Number : 109 Question Id : 87827039471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following World Heritage sites are located in India ?
(A) Dhola Veera

(B) Magao Caves

(C) Naracoorte Caves National Park

(D) Khangchendzonga National Park

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2) (A), (D) Only

(3) (B), (C) (D) Only
4) (C), (D) Only
Options:

878270155073. 1
878270155074. 2
878270155075. 3

878270155076. 4

Question Number : 109 Question Id : 87827039471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefas o 4 =19 fovg et T YR § &7
(A) e S

(B) T T

(C) RIRS TH TLH I

(D) @iT=I AW T ek

A= feu o fawedi § 9 Wa ST & 994 FIf9U
(1) = (A), (B), (O

(2) FEE (A), (D)
(3) = (B), (C), (D)
(4) %= (C), (D)
Options :

878270155073. 1



878270155074. 2
878270155075. 3

878270155076. 4

Question Number : 110 Question Id : 87827039472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Following are the sources of funds available to a tourism firm, except :

(A) Issue of capital stock in cash

(B) Sale of fixed assets and investments

(C) Proceeds from selling debentures

(D) Increase in current and non-current assets
(E) Increase in marketable securities

Choose the correct answer from the options g‘iven below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only

Options :

878270155077. 1
878270155078. 2
878270155079. 3
878270155080. 4

Question Number : 110 Question Id : 87827039472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) e H HiYed ©IF H SR fhE S

(B) fAuifia gftawafadl aen faawt =t faskt

(C) R il foskt § ferem

(D) =] @91 TR-=e] el § 9ig

(B) oo Ay wfayfs # afg

A feu U forredi | | F/E TR H =FA FIN

(1) %9 (A) ¥R (B)
(2) %= (B) 3R (C)
(3) 9 (C) &R (D)
(4) e (D) ¥R (E)
Options :

878270155077. 1
878270155078. 2
878270155079. 3

878270155080. 4

Question Number : 111 Question Id : 87827039473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true about budgeting ?
(A) Profit budgets are means to measure marketing and sales effectiveness

(B) Profit budgets combine estimates for revenue, expenses and new capital expenditures

(C

(D) InZero-base budgeting managers use cost-benefit analysis to justify all budget decisions rather
than using previous years budget as a starting point

) InZero-base budgeting process, the perious year's spending is used as a starting point

(E)  Zero-base budgets lead to better prioritisation of budget items

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2)  (B) and (C) Only

(3) (C) and (D) Only

(4) (D) and (E) Only

Options :

878270155081. 1

878270155082. 2

878270155083. 3

878270155084. 4

Question Number : 111 Question Id : 87827039473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155081. 1
878270155082. 2
878270155083. 3

878270155084. 4

Question Number : 112 Question Id : 87827039474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following leadership theories fall under the category of “contingency theories of
leadership ?

(A) Situational theory

(B) Path-goal theory

(C) Fodler model

(D) Trait theory

Choose the correct answer from the options given below :

() (4)(8) (O Only

0, <B> (D) Only
(3) (A), D), (C) Only
(4) (B), (C), (D) Only



Options :

878270155085. 1
878270155086. 2
878270155087. 3
878270155088. 4

Question Number : 112 Question Id : 87827039474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Foeferan 1 @ i ¥ el 1 gl g ¥ e fagi’ & 3o & s ¥ 2
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(C) T Higd

(D) 22 forr
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(1) e (A), (B), (C)
(2) e (A), (B), (D )
(3)

(4)

Options:
878270155085. 1
878270155086. 2
878270155087. 3

878270155088. 4

Question Number : 113 Question Id : 87827039475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hospitality managers need to address various key elements when they design their organisation’s
structure. Listed below are some of the elements. Choose the correct answer from the options that
follow :

(A) Span of control

(B) Chain of command

(C) Formalisation

(D) Mechanism

Choose the correct answer from the options given below :

(1) (A), (D), (B) Only

(2 (4), (B) (C) Only
() (8), (D), (A) Only
() (4), (©), D) Only
Options:

878270155089. 1
878270155090. 2
878270155091. 3
878270155092. 4

Question Number : 113 Question Id : 87827039475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155089. 1
878270155090. 2
878270155091. 3

878270155092. 4

Question Number : 114 Question Id : 87827039476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following National parks/wildlife sanctuaries are listed in UNESCO World Heritage
sites ?

(A} Sunderban National Park

(B) Sultanpur Bird Sanctuary

(C) Kanchendzonga National Park

(D) Bannerghatta National Park

(E) Rajaji National Park

Choose the correct answer from the options given below :

(1) (A) and (C) Only

() (B) and (D) Only
(3) (A)and (E) Only
() (C) and (D) Only

Options :

878270155093. 1
878270155094. 2
878270155095. 3

878270155096. 4

Question Number : 114 Question Id : 87827039476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270155093. 1
878270155094. 2
878270155095. 3
878270155096. 4

Question Number : 115 Question Id : 87827039477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are considered in Hors - d” Oeuvre and other appetisers ?
(A) Russian salad

(B) Cock-a-leekie

(C) Caviar

(D) Gateaux

(E) Globe artichokes

Choose the correct answer from the options given below :
(1)  (A), (B) and (C) Only

(2) (A), (C) and (D) Only
3) (A), (C) and (E) Only
(4) (B), (C) and (D) Only
Options:

878270155097. 1
878270155098. 2
878270155099. 3
878270155100. 4

Question Number : 115 Question Id : 87827039477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafeaa wF erd-<f oiega wd o= gumEs® (TfResR) o 1 €2
(A) T goare

(B) HH-T-wfFy

(C) R

(D) TifesmEd

(B) To@ sTféeameg

9 fou o fospedl # @ W& SO 1 =9 Fe
(1) %9 (A), (B) 3 (C)

() ad (A), (C) 3R (D)

(3) A (A), (C) 3R (E)

(4) ¥ (B), (C) 3R (D)

Options :

878270155097. 1
878270155098. 2
878270155099. 3

878270155100. 4

Question Number : 116 Question Id : 87827039478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Financial Ratios Computation
(A) Quick Ratio (I)  Cash and equivalents plus trade receivables divided
by total current liabilities
(B) Return on Equity Ratio (I) Earnings available for shareholders divided by
network
(C) Operating Profit Margin Ratio  (Ill) Profit after tax (PAT) divided by sales
(D) Net Profit Margin Ratio (IV) Earrings before interest and taxes (EBIT) divided by
sales

Choose the correct answer from the options given below :
(1) (A0, B)-(I), (O1V), (D)
@ (AM1), B, (©)-m), D)-(IV)
() (A, B)-H), ©)-(1v), (D))
(4) (AR, (BHIV), (CHI), (DA

Options :

A
A

(A
(
(
878270155101, 1
878270155102, 2
878270155103. 3

878270155104. 4

Question Number : 116 Question Id : 87827039478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T Tl

forfra 3 IO

(A) G ST () et i) <Al 8 T JI9aT

(B) Wiy S T fed (1) 3% o o fofu Syemed & W fud e g fawfor
¢

(C) e e W S (L) X () 3 e i fot g foenfore

(D) T T T S (IV) =591 70 0 8 6l 3 (Seflae) i fegr g0 forfom
A

7 feu T foered # | W SO T e

(1) (AHL), BHI), (C-{IV), (DA

(2 (AH), (B-{I), (CHIL), (DY)

() (AHI), B, ©-1V), (O

(&) (AXm), BV, (C-{1, OHD)
Options:

878270155101. 1
878270155102. 2
878270155103. 3

878270155104. 4

Question Number : 117 Question Id : 87827039479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
Research Terminology Explanation
(A) Research Construct () An abstraction of reality that is the basic unit for theory
development
(B) Research Proposition (I) Statement explaining the logical linkage among concepts

for ascertainjng a universal connection between them

(C) Research Hypothesis () Formal statement of an unproven proposition that is
empirically testable

(D) Research Variable (IV) Any thing that may assume different numerical values,
the empirical assessment of a concept

Choose the correct answer from the options giuen below :

(1) (AMD, (B, (O, (DAY

(2)  (AHI), (B)-(, ©-1v), O)-0)
() (AMI), BHLV), (O-1), DHID)
(4)  (AHIV), (BIIL), (C)-{T), (D)-{)
Options :

878270155105. 1
878270155106. 2
878270155107. 3

878270155108. 4

Question Number : 117 Question Id : 87827039479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
T -1l
forfra 3 T
(A) Wy fffs (1) 3o o e o fagia o 3 foru v @ &
(B) WMy ThAE  (Il) d FYA S Tk § WA He ol TG H T FEHRO

Wfearga 1 e # ¢

() TuyEReE () R swdife oo o S wo W e W Ty a
2l

(D) M (IV) 3 Sf T S0 For=1 Heaoneh WA 1 el e €, ST 1 Sfor
faefim

7 feu T foered # | W SO T e

(1) (A0, (B-(L), (CHL), (O)-(V)
2) (AKI), (B}, (©-V), (O-()
I

@ (AH

() (AHL), BHIV), (CHD. (DHI)
(@) (AHIV), (BHL), (1D, (O)-()
Options:

878270155105. 1
878270155106. 2
878270155107. 3

878270155108. 4

Question Number : 118 Question Id : 87827039480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
International organisation Head quarters
(A) Organisation for Economic Co-operation  (I)  Paris, France
and Development (OECD)

(B) United Nations Environmental Programme (II) Nairobi, Kenya

(UNEP)

(C) United Nations Development Programme  (III) Newyork, USA
(UNDP)

(D) Department of International Development (IV) London, UK
(DID)

Choose the correct answer from the n:npti{ms given below :

(1) (AL, (B, (©-(I), (D)-V)

(2) (A0, (B)-(1V), (O)-(D), (D)-(IT)
(3)  (A)-(D), (By(I), (O)-(Im), (D)-(IV)
(@) (A)-(IV), (B)HI), (C(L), (D))
Options:

8782701551009. 1
878270155110. 2
878270155111. 3

878270155112. 4

Question Number : 118 Question Id : 87827039480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et-19 Ga-11 =1 e s

Tdt-1 TEH-11
ST HTeT T
(A) wfels wedm a fas ST (A3 HE) () Ui, wie
(B) GAE T TR FHH (F T T W) (1) =, =
(©) HgFa T ol Frfe (4 0 < @) (Lll) 7R, 48T
(D) s faeprg faum (1 o1 =) (IV) e, 4%
At fou T fomked] § § W& ST T4 HI
(1) (A)I), (B}-(HI), (CH(), (D)-(IV)
(2) (A, (B)-IV), (C)-(I), (D)-(IMI)
(3) (A, (BR-(I), (C)-(Im), (D)-(IV)
(4)  (AHIV), (B)-(I), (C)-(II), (D)-(IMI)
Options :

8782701551009. 1
878270155110. 2
878270155111. 3

878270155112. 4

Question Number : 119 Question Id : 87827039481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Criteria for effective segmentation Description
(A) Measurability (I)  The degree to which segment’s size and
purchasing power can be computed
(B)  Accessibility (I) The degtee to which segments are large and
profitable enough to serve as markets
(C) Substantiality (Il) The degree to which segments can be assessed
and served
ctionability e degree to which eltective programs can
(D) Actionabilit (IV) The deg hich effective prog
be designed for attracting and serving
segments

Choose the correct answer from the options given below :

(1) (A}L), (BR), (OI), D)-IV)

(&) (A){L), (BRI, (L), D)-IV)
() (AR, (BHI), (CH(H), (DHIV)
(4 (A)-ID, BHD, (O, (D)-IV)
Options:

878270155113. 1
878270155114. 2
878270155115. 3

878270155116. 4

Question Number : 119 Question Id : 87827039481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
Tl TI1

(A) o () fom feh e e SRR 9901 3 Ve 1 06
BET

(B) W () o ferll O @ o8] 71 a9 % &9 W 9l & WG
T &

() T () fom feift o W 1 o o S e 1 el &

(D) AR T (V) i et o @) 1 aftin % 791 8a o fef
T I T e 1 e

A feu T ot W § W& S 1 T A

(1) (AHD), (BK(H), (CHLI), (D)-(IV)

(@ (A, (B}, (CHm, (O)-(IV)

() (A

(4

(AH (D
(A, (B)-{1), (CHI), (D-(IV)
(AHD, (B)-(T), (CHII), (D)-(IV)
Options:

878270155113. 1
878270155114. 2
878270155115. 3

878270155116. 4

Question Number : 120 Question Id : 87827039482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List -1 List - II
Name of online travel company Name associated with its formation
(A) Yatra.com (I)  Vinay Gupta
(B) Cleartrip (I) Dhruv Shringi
(C) Tripfactory (IT) Stuart Crighton
(D) Tripadvisor (IV) Stephen Kaufer

Choose the correct answer from the options g'wen below :

(1) (A)(0), (BRI, (OHLV), (DIHIL)

(2) (A, (B, (©)-(D), (DHIV)
(3) (A, B)-(L), ©)-(0), (DY)
(4)  (A)(IV), (B, (C)-(ILL), (D)-(T)
Options :

878270155117. 1
878270155118. 2
878270155119. 3

878270155120. 4

Question Number : 120 Question Id : 87827039482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teft-1 § Geit-11 1 e i .
Teft-1 Tt-11

aﬁaﬁ#%ﬂammm Tqes fHmToT & Hafua

(A) A () forf T
(B) ﬁwﬁq (I o

(C) feuthard () TG e
(D) fequgamsy (IV) A F
A fou U fomred] © 9 WE SR I FH9

(1) (A)-(D), (BRIL), (C-IV), (D))

(2) (A, B}ID, (O)-(), (D)-({IV)

(3) (A1), (B)-(1), (©)-(0), (D)-{V)

@) (A)-(IV), (B)II), (O)-(ILI), (D)-(1)
Options :

878270155117. 1
878270155118. 2
878270155119. 3

878270155120. 4

Question Number : 121 Question Id : 87827039483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 1L

List - 1 List - II
Event Place
(A) Beginning of 1857 War of Independence (I)  Amritsar
(B) Jallianwala Bagh (II) Agha Khan palace
(C) MK Gandhi Imprisoned (IIT) Meerut
(D) Founding Anand Bhawan (IV) Allahabad

Choose the correct answer from the options g'wen below :

(1) (A)HIV), (BHIL), (D), (D)-(0)
(@) (A, B)-1V), (O)-(), (D)
(3) (A, (B)-(I), (CR(I), (D)-(IV)
(4)  (A)D), (BR(I), (C)-(I), (D)-(IV)
Options :

878270155121. 1
878270155122. 2
878270155123. 3

878270155124. 4

Question Number : 121 Question Id : 87827039483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 9 Gt-11 1 foe I
-1 Tet-11

T T

(A) 1857 % Al GAH h1 TE3Td (I) STYITEH

(B)  Siferareren s (1) & @i Yorq
(C) WIed | wuES i s R (L) B3

(D) &g S o (IV) FARER

= feu o fomedi § © W& IO F T FHifo

(1) (AHIV), (B)-(II), (C)-(IT), (D)-(I)
(2)  (A)(II), (B)-(IV), (C)-(1), (D)«(II)
(3) (A, (B)-(I), (Cr(I), (D)-(IV)
#) (AHD), (B)-(I), (O)-(I), (D)-(IV)
Options :

878270155121. 1
878270155122. 2
878270155123. 3

878270155124. 4

Question Number : 122 Question Id : 87827039484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Type of Aircraft Flight Ranges (miles)
(A) Airbus A 350 - 1000 () 3,060
(B) Boeing 737 max 9 (I1) 3,515
(C) McDonnel Douglas Dc - 10 (L) 5,998
(D) Boeing 727 (IV) 7,900

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (O-(II), (D)-(IV)

(2) (A1), B)-IV), (O)-(1), (D)~

(3) (A)-(II), (B)-(I), (O-(IV), (D)-(I)

(4) (A)-(IV), (B)-(II), (O)-(II), (D)-(I)

Options :

878270155125. 1

878270155126. 2

878270155127. 3

878270155128. 4

Question Number : 122 Question Id : 87827039484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 § Gt-11 1 e i

Tefl-1 81|
femm &1 wa Fer Tfer Hrmr (HieT ®)
(A) TSWEH A 350 - 1000 () 3,060
(B) @& 737 HeH g (I 3,515
(C) WHIEHd e S - 10 (1) 5,998
(D) @I 727 (IV) 7,900
A feu U foeredl # § W& SR 1 994 I

(1) (A)-(D), (B)-(I), (Q-(1I), (D)-(1V)

(2) (A1), (B)-IV), (C)-(D), (D)-(IID)
(3)  (A)-(Im), (B}-(I), (C-(IV), (D))
(4)  (A)-V), (B)-(1T), (C)-(), (D)-(I)
Options :

878270155125. 1
878270155126. 2
878270155127. 3

878270155128. 4

Question Number : 123 Question Id : 87827039485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
World Heritage site Country
(A) Magao caves (I) South Australia
(B) Naracoorte Caves National Park {II) India
(C) Persepolis (IlI) China
(D) Elephanta caves {W) [ran

Choose the correct answer from the options given below :
(1) (A1), (B)-(IV), (C)-(III), (D)-(ID)

(2)  (AHIV), (B)(II), (C)(II), (D)-(T)

(3)  (A)-(I), (B)-(T), (C-(IV), (D)-(IT)

(4)  (A)-(D), (B)-(ID), (O)-(I), (D)-(IV)

Options :

878270155129. 1

878270155130. 2

878270155131. 3

878270155132. 4

Question Number : 123 Question Id : 87827039485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 TE-11

fava erter Toret o
(A) ] TTH () =feor sefemn
(B) WS TH UL Tk (I) g
(C) THUIR" (1) =M
(D) uferther TE (IV) S

= feu 7o foredi § | W& I 1 = ST
() A)-0), (B)-(IV), (O)-(I), (D)-(II)

(2)  (A)-(IV), (B)-(IIT), (O)-(ID), (D)-(T)

(3)  (A)-(Im), (B)-(I), (O)-(IV), (D)-(IL)

(4)  (A)D), (B)-(I), (O)-(I), (D)-(IV)

Options :

878270155129. 1

878270155130. 2

878270155131. 3

878270155132. 4

Question Number : 124 Question Id : 87827039486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Folk Dance Region
(A) Rauf, Hikat (I) Odisha
(B) Phag, Loor (II) Haryana
(C) Savari, Painka (III) Jammu & Kasmir
(D) Kajari, Jhora (IV) Uttarakhand

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(LI), (O)-(IV), (D)-(II)

(2) (A1), (B)-(I1I), (C)-(I), (D)-(IV)

(3)  (A)-(I), (B)~(I1), (C)-(I), (D)-(IV)

(4)  (A)-(IV), (B)-(D), (C)-(LI), (D)-(II)

Options :

878270155133. 1

878270155134. 2

878270155135. 3

878270155136. 4

Question Number : 124 Question Id : 87827039486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
TEl-1 -1

s Ted /T
(A) 1%, fesm () afewm
(B) HM, o1 (I) =i
(C) Hre, Yo (III) ST T IR
(D) e, FN (IV) SaUEs

= feu 7o foredi § | W& I 1 = ST
() (AL, (B)-(UI), (O-(IV), (D)-(IT)

(2)  (A)-(ID), (B)-(ILT), (C)~(I), (D)-(IV)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4)  (A)HIV), (B)-(D), (C)-(IL), (D)-(IT)

Options :

878270155133. 1

878270155134. 2

878270155135. 3

878270155136. 4

Question Number : 125 Question Id : 87827039487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II
Dish Indian Regional Cuisine
(A) Dal-Batee, Mawabatt (I) Rajasthan
(B) Puranpoli (II)  Maharashtra
(C) Ker sangri (II) Madhya Pradesh
(D) Kakori Kebab (IV) Lucknow

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(I), (C)-(I), (D)-(IV)

(2) (A1, (B)-(IV), (C)-ID), (D)-(I)

(3)  (A)-(Im), (B)-(1T), (C)-(I), (D)-(IV)

(4)  (A)-(D), (B)-(II), (C)-(IV), (D)-(IT)

Options :

878270155137. 1

878270155138. 2

878270155139. 3

878270155140. 4

Question Number : 125 Question Id : 87827039487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 E(t-11

aredt ( feor) AT g7 W
(A) T 9=, | wEl () TSEIH
(B) I () TeRTZ
(C) I (III) T T
(D) TN e (IV) @3

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(1), (O)-(II), (D)-(IV)

(2) (A1), (B)-(IV), (C)-(I1L), (D)-(T)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4) (AL, (B)-(I), (O-(IV), (D)-(IT)

Options :

878270155137. 1

878270155138. 2

878270155139. 3

878270155140. 4

Question Number : 126 Question Id : 87827039488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in the sequence of their location from South to North India :
(A) Qubbatul Islam mosque - Delhi

(B) Pari mahal - Srinagar

(C) Larger Sas - Bahu Temple - Gwalior

(D) Moneky Temple - Hampi

Choose the correct answer from the options given below :

(1) (A) B), (©), (D)

2) (@ (D) (A) (B)
() @) (©) (A) (@)
) (B) (4), (D) ©



Options :

878270155141. 1
878270155142. 2
878270155143. 3

878270155144. 4

Question Number : 126 Question Id : 87827039488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
freferiaa =1 sfeor & aftem wRa = SR 3k T % FH H Ee |
(A) Fearga e Afese-feee
(B) I Weel- 4R
(C) ol GrH-9g Higl-Tarfen
(D) Het Y-
Jr= feu 7o fasredi § 9@ W SHC 1 991 Hife

(1) (@A) (B), (O (D)
2) (O, (D), (A) (B)

2)
3) (D) (Q), (A) (B)
4) (B), (A) (D), ©
Options:
878270155141. 1
878270155142. 2
878270155143. 3

878270155144. 4

Question Number : 127 Question Id : 87827039489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the fnllnwing aircrafts in the ascending order of their maximum passenger capacity :
A} Airbus A 380

B) Boeing 747

Boeing 727

Airbus A 320

E)  Boeing 747 - 8

Choose the correct answer from the options given below :

(1) (&), (B), D), () (€

Options:

878270155145. 1
878270155146. 2
878270155147. 3
878270155148. 4

Question Number : 127 Question Id : 87827039489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafaa fomel 1 ST Afbrran -4l % RIS FH H e Hifo |

(A) THEH A 380

(B) WIS 747

(C) W 727

(D) TIWH A 320

(E) 3T 747 - 8

A feu T foekedl § 9 W& SR A TG FIC ;
(1) (A) (B), (D), (B), (C)

(2) (D), (©) (B), (E), (A)

() (B), (D), (A), (O) (E)

(4) (B), (D) (), (A) (B)



Options :

878270155145. 1
878270155146. 2
878270155147. 3

878270155148. 4

Question Number : 128 Question Id : 87827039490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following temples in the sequence of their location from North to South India :
(A) Sun Temple - Orian

(B) Gupta Temple - Sanchi

(C) Chilkur (Visa) Balaji Temple, Hyderabad

(D) Ramnatha Swami - Rameshwaram Temple

Choose the correct answer from the options given below :

(1) (&), ®)(© D)
@ ), ©) 04
() (4), (), (), (D)
(@) D) (A)(©) B
Options:

878270155149. 1
878270155150. 2
878270155151. 3

878270155152. 4

Question Number : 128 Question Id : 87827039490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) g4 Hfg-afgm
(B) e HiGT-Hi=
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= fou 7o fawedi § 9 Qe 39 1 999 FIf
(1) (A) B), (), (D)
(2)  (B), (O, (D), (A)
3) (A, ©), (B) (D)
4) (D), (A), (C) (B)
Options:
878270155149. 1
878270155150. 2
878270155151. 3

878270155152. 4

Question Number : 129 Question Id : 87827039491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following milestones in travel business by Airtours in a sequential order of their
occurrence ?

(A) Airtours buys Canadian operator Sunquest Vacations

(B)  Airtours acquires Scandinavian Leisure Group and Spainair from SAS

(C)  Airtours buys Pickfords Retail Chain

(D)  Airtours forms Eurosites camping division

Choose the correct answer from the options given below :

() (), € () (D)
@ ®), (DJ (f\) ©
() (D) (C) B) (A
¢ © (B),( (D)

Options :



878270155153. 1
878270155154. 2
878270155155. 3

878270155156. 4

Question Number : 129 Question Id : 87827039491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(0 4)©) (®) D)
(2 (), (D) @) (©
() @) (©), @) ()
@) (©), () (4) (D)

[

Options :

878270155153. 1
878270155154. 2
878270155155. 3

878270155156. 4

Question Number : 130 Question Id : 87827039492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Over the last 100 or so years the sequence of the European menu has taken a classical format.
Arrange the correct classic menu sequence of the fo]lowing ;

(A) Roti- Legumes - Salade

(B) Hors- d’ oecuvres - Potage - Oeufs - Farineux - Poisson
(C) Entree - Sorbet - Releve’

(D) Buffet Froid - Fromage - Entremets

(E) Savoureux - Dessert - Beverages

Choose the correct answer from the options g‘iven below :

(1) ), (), (&), O) ()
@ ) (C) D) () &)
(3) (D), () (C), (A) (E)
@) (© (B) (@), E ©)

Options :

878270155157. 1
878270155158. 2
878270155159. 3

878270155160. 4

Question Number : 130 Question Id : 87827039492 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155157. 1
878270155158. 2
878270155159. 3

878270155160. 4

Question Number : 131 Question Id : 87827039493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



After collecting the information on the market, a hospitality enterprise can start the promotion
planning process. Following are the different phases through which the process passes. Arrange
the phases in the correct sequence.

(A) Establish objectives and goals, indicating market segments

(B) Assessment of the problems and opportunities .

(C) Action programme that includes advertisement campaign, sales support and public relations.
(D) Allocation of funds.

Choose the correct answer from the optinns given below :

(1) ) (A)©) D)

(@ (&), {) ©) D)
3 ©) (@A) ®)©
@) (&) [0) 6 ©
Options:

878270155161. 1
878270155162. 2
878270155163. 3

878270155164. 4

Question Number : 131 Question Id : 87827039493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) @) A), () D)
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Options :

878270155161. 1
878270155162. 2
878270155163. 3
878270155164. 4

Question Number : 132 Question Id : 87827039494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Global Code of Ethics consisting of ten articles related to the economic, social, cultural and
environmental components of travel and tourism adopted in October, 1999 by the 13% session of
the General Assembly of the UNWTO. Arrange the articles in a sequential order :

(A) Tourism, a user of the cultural heritage of mankind and contributor to its enhancement
(B) Tourismas a factor of sustainable development

(C) Tourism as a vehicle for individual and collective fulfilment

(D) Tourism’s contribution to mutual understanding and respect between people and societies

Choose the correct answer from the opliuns gi\f en below :

(1) ©) ) B) (&)

@ () D) C), @A)
3 () ©) B) (4)
@ (© () D) B)
Options:

878270155165. 1
878270155166. 2
878270155167. 3
878270155168. 4

Question Number : 132 Question Id : 87827039494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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() (@) (C), (), (4)

@ ®) 0.0 (4
() (A), (©), ©), (4
(4 (© (4) (D) @)
Options :
878270155165. 1
878270155166. 2
878270155167. 3

878270155168. 4

Question Number : 133 Question Id : 87827039495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Conjoint analysis follows the following steps. Arrange them in the sequence in which these steps
are faken :

(A) Rate or rank data

(B) Decide attributes and levels

(C) Run dummy variable regression

(D) Interpret the part - worth coefficients

(E)  Assess internal and external validity

Choose the correct answer from the options given below :

1) () (8,0, 0) @
O [ (©) 06 ¢
() (©) D) (E), () (B)
4 ) (A) €, 0) E

,.—-—.._r--\;---\,.-.‘_

(B
(C
(
Options :

878270155169. 1
878270155170. 2

878270155171. 3

878270155172. 4

Question Number : 133 Question Id : 87827039495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) T A 9 A oA
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0 (@A) ®),C), D) E

(2 () (C) (D) (E) (A)
3 (© (D) () A

( (A), ©)

)
)
)
4 () (A0 0

(A
) (B)
) (E)
Options :
878270155169. 1
878270155170. 2
878270155171. 3

878270155172. 4

Question Number : 134 Question Id : 87827039496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tourism plamjng cyde follows several steps jncluding the Inllowing. Arrange the steps ina logical

Sequence in which these are taken :
A) Analysing existing tourism situation

B) Assessing tourism related resources

D) Programming and implementation

(
(
(C) Fixing priorities
(
(

E) Monitoring and evaluation

Choose the correct answer from the options given below :

(1) (A)®)©) ) E)
(

Options :

878270155173. 1
878270155174. 2
878270155175. 3

878270155176. 4

Question Number : 134 Question Id : 87827039496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S o5 H ffaiEa Bfed S7 FeH 8 ¢ | 37 Fenl @l difcheh 9 H T
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(D) FHHH TR F 941 FAE

(E) T e gedie

At feu T foskedl # | W@ S 99 FIGC
(D) (), (), ©), D) E)

(&) (B),(C) (D), (E), (A)

@) (©) (D), (E), (A) (B)

4) D) (E) (A) (B), (©)



Options :

878270155173. 1
878270155174. 2
878270155175. 3

878270155176. 4

Question Number : 135 Question Id : 87827039497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following festivals in sequenlial order as per their celebrations from North to South

India :

(A) Gangaur
(B) Ganga Dussehra

(C) Har Navami

(D) Pongal, Thaipusam

(E) Onam, Vishu

Choose the correct answer from the options given below :

() ®), (4) 6 ©) )

@ (4), (), ) &) ©
(3) () (A) @) (), ()
() (C), (b), (A). (D), (E)
Options :

878270155177. 1
878270155178. 2
878270155179. 3

878270155180. 4

Question Number : 135 Question Id : 87827039497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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) (A),(B), (0), (B) (©
D), (A), (B), (), (E)
) (©), (B) (4), D) E

Options :

O
(2 (@A
) (
(4

878270155177. 1
878270155178. 2
878270155179. 3

878270155180. 4

Question Number : 136 Question Id : 87827039498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The hotel-resort industry faces unique challenges in strategic planning

Statement (II) : Most other members of the tourism & hospitality industry, such as airlines, cruise
lines and major restaurant chains may approach strategic planning in much the
same manner as a manufacturing company

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4)  Statement I is incorrect but Statement II is correct



Options :

878270155181. 1
878270155182. 2
878270155183. 3

878270155184. 4

Question Number : 136 Question Id : 87827039498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) R (1) 3 e (1) < 5 &

() R (1) o e (1) T o

(3) R (1) T &, TR e (1) 3 ©

(4) R (I) 3 &, Wi Y (1) 59§

-

Options:

878270155181. 1
878270155182. 2
878270155183. 3

878270155184. 4

Question Number : 137 Question Id : 87827039499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : In normal distribution, mean, medium and mode coincide
Reason (R):  Normal probability curve is symmetrical

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270155185. 1

878270155186. 2

878270155187. 3

878270155188. 4

Question Number : 137 Question Id : 87827039499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A &) o e 0 v arfveRa (A) 3w T fafiad © o gE T SR (R) F EY A€
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IR B F S H, T4 U T foredi H§ | @ S T Hi ;
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(2) i (A) 3R (R) T € A (R), (A) T 9E e W T

(3) (A) A 8, Tl (R) &9 2

(4) (A) ¥ 2w (R) 99 ©

Options :

878270155185. 1

878270155186. 2

878270155187. 3



878270155188. 4

Question Number : 138 Question Id : 87827039500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Net present value (NPV) is a function of cash flows and cash flow is a function of
depreciation

Statement II:  The higher the depreciation, the lower is the cash flow and net present value
(NPV)

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement Il are incorrect

4

v
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct

Options :

878270155189. 1
878270155190. 2
878270155191. 3

878270155192. 4

Question Number : 138 Question Id : 87827039500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 QA RUmE

FIT (1) o S T (2 Yo ) (T 9 o) T elle 1 o1 940 s Wolle 1 i
# e

HR (11) : FAeE A B T e A B 9 TG aiee e (T ) 2 g

R TR F AT H, A fow T fore # 9 WE I T A

(1) R (1) 3 e (1) < 5 &

(2) R (1) oI e (1) T o

(

(

3) Y (1) § ¢, T e (1) A ¢
1) R (1) S €, TR e (1) T €
Options :

878270155189. 1

878270155190. 2

878270155191. 3

878270155192. 4

Question Number : 139 Question Id : 87827039501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Taj Group of Hotels cherishes the dual honour of being the World's Strongest
Hotel Brand 2022 and India’s Strongest Hotel Brand 2022

Statement Il :  Taj Hotels are a registered hotel chain under EIH hotels and cater to only
international clientelle

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3

(

4)  Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

Options :

878270155193. 1



878270155194. 2
878270155195. 3

878270155196. 4

Question Number : 139 Question Id : 87827039501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155193. 1

878270155194. 2

878270155195. 3

878270155196. 4

Question Number : 140 Question Id : 87827039502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The coach tour without having any hidden or surprise expenses is usually an
organised packaged trip and customers know the total cost in advance,

Reason (R):  There is greater economy in the tour package to allow individual traveller to
obtain optimum experiences and enjoyment of sightseeing, entertainment,
transfers, meals and hotel reservations.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270155197. 1

878270155198. 2

878270155199. 3

878270155200. 4

Question Number : 140 Question Id : 87827039502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270155197. 1
878270155198. 2
878270155199. 3
878270155200. 4

Sub-Section Number : 2
Sub-Section Id : 8782701657
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827039503 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage carefully and answer the questions given in the end :

Dictionary meaning 1) emphasises the notion of inheritance, which is or may be
transmitted from ancestors. Tourism usage often classifies it as cultural or natural heritage. The
WHC (1982) also enjoins signatory nations to ensure the identification, protection, conservation,
presentation and transmission to future generation of the world's cultural and natural heritage.

Since the end of the second world war there has been a global proliferation of interest in
heritage, particularly but not solely in the Western world. Many writers consider that this
preoccupation with the past is a response to the extent and scale of social and environmental
dislocation, where by the mass of people in post-industrial societies have became separated from
the continuous traditions of the past. Modern society has turned back to the past to understand
how it has arrived at the present. In rural societies, which are predominate in many third world
countries today, the past is not distinguished as a separate realm but is continuously reproduced in
the everyday lives of the present.

If the pace of change in the recent times has created a demand for the past, then tourism has
often supplied the product to meet the demand. Globally, the heritage industry has became a very
significant tourism sector. In countries such as the United Kingdom, France and Italy, heritage has
became the major focus of their entire tourism industry. In Asian and Middle Eastern countries,
such as China, Indonesia, Thailand, Egypt and Israel, the movements of the past civilizations are
major attractions for both near and far tourists. In central and South America the vanished
civilization of the Aztecs, the Incas and the Mayas constitution a nucleus for tourism. On a global
basis, WHC has also given very significant impetus to natural heritage as a major component of
tourism. Thus, the Serengeti Plains of Africa, the Grand Canyon of the United States, the Great
Barrier Reef of Australia and many national parks which have recieved world Heritage Site Listing
have become recognised not just as national symbols but as part of the global heritage.

Sub questions

Question Number : 141 Question Id : 87827039504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fill up the above blank space in the passage with the appropriate word from the fo]lnwing v
(1) Tribe

(2) Clan

(3) Heritage
(4) Family
Options :

878270155201. 1

878270155202. 2



878270155203. 3

878270155204. 4

Question Number : 142 Question Id : 87827039505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n Central and South America which one of the [ollowing is not the part of their nucleus
civilizations ?
(1) Aztecs

(2) Incas
(3) Maya
(4) Babylonia
Options:

878270155205. 1
878270155206. 2
878270155207. 3

878270155208. 4

Question Number : 143 Question Id : 87827039506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Natural Heritages site Continent
(A) Serengeti Plains (I) America
(B) Grand Canyon (II)  Africa
(C) Great Barrier Reef (IIT) Asia
(D) Hemis National Park (IV) Australia

Choose the correct answer from the options giv en below :

(1) (A, B)-(1), (C)-(IV), (D)-(11)

(2 (A1), (B)-(II), (C)-(IID), (D)-(IV)
(3) (A, (B)-(I), (C)-(L), (D)-(IV)
(4)  (A)IV), (B)-(1I), (CO)-(I), (D)-(1I)

Options :

878270155209. 1
878270155210. 2
878270155211. 3

878270155212. 4

Question Number : 144 Question Id : 87827039507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The full form of WHC is :

(1) World Historical Commission
(2) World Heritage Convention
(3) World Heritage and Culture
(4) World Heritage Committee

Options :

878270155213. 1
878270155214. 2
878270155215.3

878270155216. 4



Question Number : 145 Question Id : 87827039508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why after the Second World War people of the world began to show their interest in heritage ?

(A) Western world was interested to know the impact of their victory

(B) To known the scale of social and environmental dislocation

(C) A large number of people in post-industrial societies were separated from the continuous
traditions of the past

(D) Modern society has turned back to the past to understand how it has arrived to the present

Choose the correct answer from the options given below :

() () (8 Only

@ ®) (C )( ) Only
) (A) (C), D) Only
@ (A),(C), (B) Only

Options :

878270155217. 1
878270155218. 2
878270155219. 3

878270155220. 4

Question Id : 87827039503 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827039504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfaa vesi ¥ I o T = 9fd whifse |
(1) SHsd

(2) T

(3) R
(4) UHER

Options :



878270155201. 1
878270155202. 2
878270155203. 3

878270155204. 4

Question Number : 142 Question Id : 87827039505 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e U9 fem s o freffafaa § @ #9- W 1 g T e (am) w# e

1) T
(2) ¥FM
(3) e
(4)
Options :

878270155205. 1
878270155206. 2
878270155207. 3

878270155208. 4

Question Number : 143 Question Id : 87827039506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 -1

UTehiaen faraa e TRET
(A) HEHEET HEA ()  STHTER
(B) e HfEA (I)  3TohieT
(©) = SR % (1) uferm

(D) e et 9k (U wifor s9E) (1V) St

= feu v fasredi § § 98 I F1 =94 S
(1) (A1), (B)-(D), (O)~(1V), (D)~(IL)

(20 (A)-(D), (B)-(IT), (CO)-(I), (D)-(IV)
(3)  (A)-(Im), (B)~(D), (CO)-(10), (D)-(IV)
(4)  (AHIV), (B)-(1L), (O)-(1), (D)-(I1)

Options :

878270155209. 1
878270155210. 2
878270155211. 3
878270155212. 4

Question Number : 144 Question Id : 87827039507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
g7, UELH, (WHC) 1 9 9 €
(1) acg feifea FHvE
(2) oS eEs FHelv
(3) @S ES TS HeN
(4) =g eftes Hfufe

Options :

878270155213. 1

878270155214. 2



878270155215. 3

878270155216. 4

Question Number : 145 Question Id : 87827039508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

it el g 3 T o 5 0 3 P 3 o o e o
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Options:

878270155217. 1
878270155218. 2
878270155219. 3

878270155220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701658
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827039509 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following passage carefully and answer the questions that follow :

Himachal Pradesh, a picturesque State nestled in the Western Himalayas, was carved out by
joining together the ancient kingdoms of the hilly parts of old Punjab. Its state capital Shimla, was
the summer capital of the British Raj since 1864. It is home to India’s apple economy. The cuisine
of Himachal is a medley of diverse ethnic influences- Himachali, Punjabi, Tibetan and European
(traditionally nurtured by hotels such as the Cecil, which emerged out of Rudyard Kipling's Cottage
after the Hotz family purchased it in 1902 and is now a part of the Oberi Groups). Some of the
Himachali favourites include Madra, Tudkiya Bhaat, Chha Gosht, Babru, Kale Chane ka Khatta
and Siddu. All these food delicacies come together at the times of fairs, festivals, weddings and
rites of passage. The platter is called dham. It is prepared by botis. For travellers and tourists who
come in thousands throughout the year, Himachal has various tourism products and of course
food on offer including North Indian staples, Tibetan specialities, delicacies from Himachali Rasoj,
European or Continental Food to meet the attention of travellers or tourists in need of fuel after
visit,

Sub questions

Question Number : 146 Question Id : 87827039510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a tourist destination of Himachal Pradesh ?
(1) Mc Leodgani

(2) Lahul spiti

(3) Ranikhet

(4) Dharamshala

Options :

878270155221. 1

878270155222. 2

878270155223. 3

878270155224. 4

Question Number : 147 Question Id : 87827039511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The specialisl cooks in Himachal prepare 'Dham’, the local term for a ‘feast’. These specialisl cooks
are known as :

(1) Mahara

(2) Botis
(3) Kansama
(4) Waza
Options :

878270155225. 1
878270155226. 2
878270155227. 3
878270155228. 4

Question Number : 148 Question Id : 87827039512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cuisine of Himachal has a wide range of delicacies. Dishes like thukpa, shapta and chhurpi are
influenced by :

(I)  Punjab Specialities

2

(2) Continental Specialities
(3) Indeginous Himachal Specialities
(4

4)  Tibetan Specialities
Options:
878270155229. 1
878270155230. 2
878270155231. 3

878270155232. 4

Question Number : 149 Question Id : 87827039513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The state cuisine of Himachal is a medlev of diverse ethhnic influences. The tourism & hospllahtv
of the state has been nurtured bv hotels such as ‘The Cecil’, which 1s now a part of the Oberol

Group. Which amongest the lullowmg is also a luxury hotel of the Oberoi Group in Himachal
Pradesh ?

(1) Udaivilas

) Amarvilas

) Wildflower Hall
) Vanyavilas

2
(3
(4
Options :

878270155233. 1
878270155234, 2
878270155235. 3

878270155236. 4

Question Number : 150 Question Id : 87827039514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This is a dish from cuisine of Himachal and its description is rice cooked with lentils, potatoes and
yogurt. The name of the dish is :

(I) Tudkiya Bhaat

(2) Madra
(3) Siddu
(4) Mithdee

=y

Options :

878270155237. 1
878270155238. 2
878270155239. 3

878270155240. 4

Question Id : 87827039509 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827039510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa o 9 =i a1 w9 feurae yew &1 9deq e 7é § 2
(1) ek areTs

(2) e wifd

(3) TEREd

(4)  GHITA
Options :

878270155221. 1
878270155222. 2
878270155223. 3

878270155224. 4



Question Number : 147 Question Id : 87827039511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

femera & forvog T o SR S E S e o e v B 3 oy v e T A R R

Options :

878270155225. 1
878270155226. 2
878270155227. 3

878270155228. 4

Question Number : 148 Question Id : 87827039512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
feeeer o ST g TR e o Wt € | e, 9 e <ef o Pt & 9 fr @ wenfem
¢

Options :
878270155229. 1
878270155230. 2

878270155231. 3



878270155232. 4

Question Number : 149 Question Id : 87827039513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fewreret o weforer e o fafoy o yoa S8 1 W €1 T 3 R au e R AT g
Yl ST el A SO fofel St s o S W o (e | Feen Teu W S 9 o St
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(1) 3 foremm

(2) o foem

(3) TS TR el
(4) o9 oM
Options :
878270155233. 1
878270155234, 2
878270155235, 3

878270155236. 4

Question Number : 150 Question Id : 87827039514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fewTeret oI & oW U o forel =1 1 7, S0 a9 A o WY VR W § S AN E

EEE
=

Options:
878270155237. 1

878270155238. 2



878270155239. 3
878270155240. 4



